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Dudia i6
U w7 s ey

dircction of | ?:7 and ::3::1 0l

Whar are the mal

s ol World Trade Oro "on ¥}

Explain the Vailages o WO o India 6+10
ovg = Tizm o5 T o H omuls wITAT

Unit IV
Ezar gl AN

Describe the achicverments o

shortcomines or

Policy of Government of India.
RO R vawie aify e Iumtsra g

TR wfan

(2-05)1 .1799 o



_ﬂq(@,ﬂu@.ﬂ
Feg o & wyam

()
(F) =TT |

7. Explam :
{a) Signs of pregnancy
(b) Discomforts ot pregnancy.
ERic| FaT .
() nyfFEen % oFd
() niwa # oW

8. Explain the characteristics of childhood.
qrearEe ® fEsherst e owol Fifsw

9. Explain the following :
fay Cold
() Couzh
(¢} Fever
(d) Diarrhoeas.
frefefen w feufml fafew .

{(#A) M
(9) et

() @8R
(7) Afgam |

L-1793 4

Roll N .eeeieeeveecinrcrnes Total Pages : 04
GSQ/M-16 1793
44 HOME SCIENCE
302

Human Development

Timne : Three Hours) [Maximurmn Marks : 40

Note :  Attempt Five questions in all, selecting at least one

question from each Unit. Q. No. 1 is compulsory. All

8 guestions carry equal marks.
TF THEE § R I ST 7Y, A uie 9 W
229 IR G oy wem 1 e B wud v @

HFE FWI E )

Compulsory Question

(frard wv)

1. State whether the following statements are True or
False : 1x8=¢
frafafes dol & 1 W 9 @ % A § wewn .
(1)  Reward and punishment is used for wmeasurement

of 1utelligence.
TR R U w1 owEAm g A F G fe
T OE

1,400 (2-05) L-1793 PT.0.



{(1r)  Personality is the 1otal quality of individuals Frfafgs ww whrg fecafor fofmm .

e

behaviour, (A}
=fag F 5 H W UM IGET eATIEE T (A)
()  The new borne is not a miniature adult.

o o W ® ow wwoam T wm

3. Define intellizence. What are the different methods of

S o . . measuring the mtelligence of a person ! 2,6
(v} Vencose vein is a common problem of lactating . . . ) .
g & ufierw G | ot = g T3 F1 fafesy
mother. i ; . .
N . r o X 3 EHEe i g7
MBIl AEA H i o uw e e ¢ (R ¢

(v1 Synthetic clothes decrease the problem of Eczema. 4. Define learning and explain the difierent factors which

a3

T I W OTHR FOHH FTI ¥ | . .
: affect the proceys of learning. . 2,6
vi) Nutrition does not affect the erowih of hifdren. N § - N . . L e
(vi) Jron does cel e growth of chidre SE % deR wowwin ww A fafas
n_.ﬂa_ mﬂm. ED .mmm L8| 7 m_ d f 3T ! e I I
, Fl ¥ il FE F T wIEAT |
(vii) Increase blood oxytocin level decreases the milk

production in lactating mother. 3. Explain the following :
9 H e w1 ' oges g el wfew ¥ 3w (a)  Types of Play
. F1 oo w8 @ R . (b} Types of Personality. 44
(vii) Childhood is also known as day dreaming stage. frfafas w frofiegy fafem .
w T T g e F sEmer o w () BE % UER

Unit | Unit I

TS | TeTE 11

2. Write short notes on the following : 35 6. Write notes on the following -
() Aims of Child Psychology _ (a) Il effects of carly marriage

{b)  Subject matter of Child Psychology. (b)  Breast feeding.

1.-1793 2 (2-05)1.-1793 3 PT.0O.,
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LGSQ/M-16 1797
HEALTH AND PHYSICAL EDUC ATION
{ Theo Qy

Hine - Three Hours] Maxiruum Marks 60

Note © Attenmipt Five questions in afl. selecling at ieast one
question from cach Unit. Q. Na. 9 is compulsory. Al
questions carry equal marks.

TUF THE N WE 4 YR oz w4 uig o @
Sa A we wew 9 wfwap! 3oy ousht oge %
ek T &

Uniu
ECAE |

Lo fhscuss the role of traditions on the influence of behaviour
patiern, i8
s W wmmr Y ogwm w fyen R T
Bl

2o Explain socializanon through sports in detail, 10

TR W T ousteTT # whEa w favaryds
TeH Fifsr

{(2-06) L-1797 P.T.0O.



&

Unit T

xplain the importance of dirst aid 0 detail. 10

ey TR & ¥ famgE® AR e |

Describe the principles of first aid in detail. 1

virtr mepT & fEgE w0 feanmE i &ieT o

Unit I11

ECAE |

Fxplain  the prefessional  qualification  of  Physical
Fducation teachers and coaches. 10
snafiE foen ®  sEaTE] o wl E SnEATTE
Al o wTET |

Discuss the nature and charactertstics of leadership. 10

gl & wmyE she fawramed w0 a@vE o mWSU
Unit IV
gE IV
-
Explain the mechanistn of digestion in detail. 10
qE fEar w1 owEfala s fArangdHE AT s

What are the effects of exercise on digestive system. 10

g T F PN GWiE YIS w7

T T

L-1797 2

UnitV

¥HE V
9. ()  Wha is Sociahzation ?
(R e B
(i) What are Traditions 7
ot 7
(iit) - What do vou mean by first and ?
. wefgs TEEA A oo™ @ #ned § 7
Q,C Write any /wo functions of {ivst ader.
yifa® WErE s &2 |l & _
(vi  Name any fowr aricies ol first aid box
Ay H TEA AR |GE A= F
(vip  Define Leadership.
g =D afaen gl
Vil What do vou mean by digesion Y
was § a9 w uwAd § 2
What are the orzans of digestive system 7
R uE F F CRM-SE § 7
(I Write any hro functions ol skin.
er E wE A ETA !
(x)  What are the organs of excretory system 7
ST WAl E o oHn A wED 8 7
10x2=20
(2-06) L-1797 3 3.000
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GSQ/M-16 1799

MUSIC-INSTRUMENTAL
Paper I (Theory)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 1 is compulsory. All
questions carry equal marks.

THF THE U Uk W 99 §U kS U TEA &
I AT | oy gem 1 afEd €0 sl we W
AF T T

Unit I

ECAER

1. Write down the notation of any Raag of Maseetkhani Gat
ol your syllabus. Along with Aaroh, Avroh, Pakar and its
full description.

A9 WedFER H o0 fEA uwm o oWl gHAeEEl e AR

2. Wnte down the comparative study of Raag Bhimpalasi
and Bahar

T SHEAH] A9 I TER Rl qeleRE AUH @it |

(2-06) [.-1799 PT.O).



VUit doses the Ekgun, Dugun, Tigun and Chaugun of
Taat jh.oaal and Sultaal

A ® 9w, g, O der =iE
_

Write the notation of any Raag in Jhaptal or Rupak
(other than tcentaal).

A UEEEA H ° fFd wm W 9 @Wuaie W w9
e W A fafen

Unit 11

ECOER |

Write a brief introduction of notation sysiem with its

merits and demerits,

wfefy ugfa & T 4 & W wEw efew |

Write the history of Indian Music during 17th to 19th
Century.

A || % 17A 9 195 vE dF & wiw fawm
T GufF wifau |

Unit I

ECIER NI

Explain the conribution of Ut Al Akbar Khan 1n
promoting Sitar,
IEE Il HEAT ™ Sk S T g St |

[.-1799 2

10.

(2-00)1.-1799

Explain and write the role of clectronic media in promoting
and popularising Indian classical music.
YN e 99 % §ER WEROH
F AMER F AUA HITS0 |

Write the Razakham Gat of Rag Kamod or Bihag.
W R gEr I faEm o e T fefew

Write the contribution of Ut. Vilayat Khan.
e faame W oF Ses-uEE Wowewl =ifew |

3 1,000



10. \Write short notes on the following :

ta)  Pen Drive
(by  Memory card
(c)  CD-ROM
(dr Optical Disk.
T Iy
(%) TF ZRA
(9) TEE FTE
(%) H=E-19
(z) «Afesa fz=
1-1810 4

Roll No. ceviieree Total Pages : (4

GSQ/M-16 1810
OFFICE MANAGEMENT
Computer Applications in Office Management
(Theory)

Time : Three Hours] [Maximum Marks : 80

Note : Atlempt any Five questions. All questions carry equal
marks.
fF=f ufe wAl & W dfeu | et oy # oo
GLICEE A
1. (a) Explam various characteristics of computers.
Frged ®1 fafa= favwaet w1 avlk S
{b) Differentiate betwcen analog, digital and hybrid

computers.
wATel, feSiied dul EEfee wEgH W OTR TR
BRI

2. Explain the basic principle of operations of Magnetic
Tapes. Also mention its advantages and disadvantages.
Frfes 79 w1 wr-ugl # fagm w1 av FRU |
THE A9 gw wqaE o waEd |

100 (3-07) L-1810 P.T.O).



f-i

Define and explain the following : 6.

(a)  System software
(b} Application seftware
{c)  Operating svstem
(dy  User Interface.
frsfafms =1 ofiam we avs #ifam . 7.
(#1) fimem O
(4) UwfEsH wfeas
(|§) e fawg
(3) TN T=0H 8.
What do you mean by network ? Differentiate between
LAN and WAN.
EEd H eI w UEE ? 2 w® (LAN) wen 9
(WAN) o =1 =@mu | ‘ 9.
(a) Explain WWW and it elements.
WWW 1 0 FITI0 #e1 I8% o2F % af o
EGIECEN
(b)  What do you mean by video conferencing ? Explain
s tvpes.
Afgal FEEET = wR R 7 ToE fafv= v
F1 =R Hifqu |
=iC 2

(3-07Y L-|&jo 3

What do you mean by Word Processor ? Fxplain its uses
and advantages. Also name anyv tiree popular word
processor packages.

a8 YR FW OB E 7 THE oU9 a9 ITUm fefEm

What do vou mean by memory 7 Explamn various lypes
of memories.

™ v M-
A F oEEr @
HIT

7 fafo= @ &1 iR w oA

(a)  Write a short note on Electronic Data Processing.
oI Aimel TEERT W OEfE fooft fafay |
(b) Differentiate between guery and table.

FH (Query) oM *fam (Table) ¥ & F1 a0
HifFe |

Writc short notes on the following :

{a)  Storage capacity

(b)  Access Time

(cy GUI

(d) Single user operating system
frefafen w =g ol fafan
(%) =RE #ufad

(F) THEE Ty

(@) SoF IE (GUD

(=) fome gor smidn fgem

P.T.0.



9. )

(b)

1-1823

Unit 1V

State and prove Cauchy Schwarz inequaliny for inner
product space. 3
Let VER) be a real nner product space. 1.t o, BeV
such  that  « . B. Then  show  that

hl

5 )
=t + BT Also prove the converse. 2

ot +

Prove that every finite dimensional vector space 1s
an nner product space. 3
Let T be a lincar operator on a unitary space V(C).
Prove that T = O T :TL o: =0 forall u ¢ V

2

4 3,800

Roll Now. o,

Time : Three Hours|

Note

(b

Totai Pages : 04

GSQ/M-16 1823
MATHEMATICS
RM-362

Lnear Algcbra

[Maximum Marks : 26

Attempt Five questions in all. selecting at least ones

question from cach Unit. . No. 1 is compulsory,

(Compulsery Question)

Let R be the tield of real numbers and W = {(x. x.
vy v e Ry Show that W is subspace of V3(R).
2
let T 0 U~ V be a linear transformation. Then
prove that range of T i.e., R(T) is a subspace of V.
2
L.et the lincar transformations T, : RY - R? such
that T (x. 3 2) = (4x. 3y - 22) m:m.%m : R? » RZ?
such that To(x, y) = (-2x. v). Compute T,T, and
T,T,. 1
Prove that
=l

forall ¢ e F. w € V. i

(2-09) L-1823 P.T.0O.



(b)

(b)

L-1823

lincar combination of the vectors vy, va. vy

Umit 1

Prove that a non-cmply subset W oot a vector space
V(F) is a subspace of Vil and only it are - v e W
for ¢ e F and . v € W 3
Ha sct of (n+1) vectors (v vy v Vo ¥ 15

lingarly dependent and (v, vy, vy,

= A

linearly independent set, then prove that v is a

Show that. i W 1s a subgpace ol a finite dimensional
vector msmr,ﬂ. Vi) then W ois a finite dimensional
and dim W < dim V. Also dim W = dim Vit
W=V 3
it W ois a subspace of vector space Vi) and u
w' e V. then prove that W + ¢ =W + ¢ il and only

ifu—u e W 2
Unit I1

Which of the following functions arce lincar
transformations 7 3

(i) T : R > R defined by T(x, y) = (x © v

"

(i) T:R3 > Rdefined by T(x. y.2)=x7 — 3= 4 =2

6.

(2-09) L-1823 3

(b)

{a)

(h)

()

(i

let 1 - U — V be a linear transformation. Then

show that U/ ker T = T(U). 2

Find a lincar transformation T @ R} — R whose
range space is spanned by the vectors (1, 2, 3).

(4. 5. 6).

»

[et'S = v, vy vy be a basis of V4(R). defined by
v =T Doy = (=1 Doy = (1 =), Find
2

the dual basis of S,
Unit Il

Prove that a linear transformation T @ U — V 1s
non-singular 1Y T carrics lincalry independent vectors
of 17 onto linearly independent vectors off 'V, 3
HWT, cU—->Vand T, : Vo> Ware two invertible
tincar transformations. then prove that T,T, 1s also

imvertible and Qm._,_v‘_ = ,_,“n_.‘ﬂw-_. 2

Find the matrix representing the transformation T ¢
R — RY defined by T(x, v z) = (x =y + =
2v + 2. 2y — 2. 6y) relative to thie standard basis of
R3 and R*. 3
Prove that if T: V — V is a linear transformation,
then » € F is an eigen value of T iff T — A is
singular. Also. the cigen space of & is the kernel of
T —» 2L 2

P.T.O.
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GSQ/M-16 1824
MATHEMATICS
BM-363 :
Dynamics
Time : Three Hours] . {Maximum gm,aﬁm 27

Note : Attempt Five questions in all, selecting at least one

question from each Unit. Q. No. 1 is compulsory.

(Compulsory Question)

1. (a) Define angular acceleration along a plane curve. 1
(b) Define S.HM. and its amplitude. 1
() Show that an apse, the particle moves at right angle

to radius vector. i

(d)  Write the formula for Horizontal Range in Projectile

1

{e) A particle describes an equiangular spiral r = oY

with constant anguiar velocity, Find its radial

i

acceleration. 1

(3-15)L-1824 P.T.0.



2, i
" (b)

3. {a)
(b)

4. (a)
1.-1824

Unit 1

Te find the expressions for tangential and Normal
components of acceleration of a particle moving
along a plane curve. 3
A point P moves with a constant anvular velocity
about O, where O is the pole of the equiangular
spiral » = ae” obtain the radial and transverse

acceleration nf P . 21

Prove that the work done against the tension in
stretching a hight elastic string is equal to the product
of 1ts extensien and the means of the iitial and
final tension. 3
A particle moving with SH.M of period 12 seconds
travels 10 cmi from the position of rest in 2 szconds.
Find the amphtude, the maximum velocity and the

velocity at the end of 2 seconds. 2%
Unit II

Two particles of masses o1, and m, are connected
by a light in-extensible string, m, is placed on a
rough horizontal table, the string passes over a light
smooth pulley at the edge of the table and m, is
hanging freely. Discuss the motion. the tension in

the string and the pressure on the pulley, 3

(3%

(b)
5 (a)
(b)
6. (a)
(b)

Two scale pans each of mass 2 kg are connected by

a string passing over a smooth pulley. Show how to

divide a mass of 45 kg between the two pans so
that the heavier pan may decerd through a distance

4 m1 in the first 4 scconds. 2%

Show that the work done in stretching an elastic

string of natural length / and modulus % from tension
T, to tension T, 15 : 2
! (1212
hJN - _I—JH

24N V

A particle of mass m {alls from rest at a height #
above the ground. Show that the sumt of Kinsetic and
potential energies is constant throughout the motion.

3

Unit IH

A particle shides down the outside of a smooth
verticle circle ﬂm:_.:m from rest at the highest point.
D¥scuss the motion. 3
Two particies are let drop from the cusp of a cycloid
down the curve at an interval of time ¢ Prove thai

they will meet 0 time : 2%

{3-15) L-1824 ‘ 3 P.1.0.



(b)

(b)

L-1324

If the focus of a trajectory lies as much below tha
horizontal plane through the point of projection us
the vertex is above it, prove that the angie of
projection is gien by : 3

. 1
sing = !ﬂ

w

If v, and v, be the velocities at the ends of a focal

13

chord projectile’s path and ‘u”" the horizontal

componeni of the velocities, show that - 24
1 I
|,N! + — = 11u.

vy <N i

Unit IV

Prove dittzrential cquation of ceniral orbit i polar
form. 3
A particle 15 projected trom an apse at a distance

‘a with the velocity from infimry under the sction

: H :
of a central acceleration ~%,73. Prove that the
P
equalion of the path is " = a” cos #b. 2%

{3-133.-1823 5

(a)

(b

To establish tihz eguivalence of Kepler’s laws for
planetary metion and Newton’s Law of Gravitation.

3
The greatest and least velocities of a certain planct
in its orbit round the sun are 30 km/sec. and
20.2 anrsec. respectively. Find the accentricity of
the orbit. 2

3,800



(h)
8. (i)
{b}
9. tay
(b}

[-1832

4

f(y=e S (z+#0) and
at = oo ik although CR
Rt 1

cauations
Section ¥y

bad the transformation which

maps outside = =1,
an the hatt plane R{w)y = 0 so that the poims
i

S i1t correspond oow = L - Drespecuvely,

4

Prove that the Riimear trensformation bas Gvo

distinet fived ponts € and Rothen e transformiate
may be of ferm +
w1 T =)

S
wo-R o R

i the tnage of the

meinrmation v and dlso draw the

4

ations which map the

ot cirede wes 4

4 12,500

nerisdnsaien

GSQ/M-16 1832
VATHEMATICS
BM-361

Real & Comiplex Apalysis

Time - Three Hours [Mdximum Marks © 40

Note - Atempl Five questions noalll selecting at ieast one

question from cach Scetion. (20 Noo i i3 compulson.

(Compulsory Question}

o) md the tmage of point 4 37 on ¢l
radius T oand centre (71 00 O, 1V
iy bvalue o 14
NI
o
Al /.‘u’l v
(o) Prove that the equanon v ¢ has Infinireny many
solutions. 13
() Vind the coclticient of magnification and angle ot
rotation i © 2 - 3¢ tor the transtormation -
17
4

ransiormation

() Discuss the nature !

(2-00) 1-1832 PO,




2. (&)
(b}
3w
(b)
4. (a)
1-1832

Section 1

Show that the functions vy = v v 2y

3zow = x4+ 2 3z are dependent. Ao ostablish
the relation between them. 4
-2
Fxpress | sin "Oeos A0 o -1 in terms
of RBeia function. tHence evaluate
i3 LI -
s Oycost) 0 4

)

Fvaluate

roe2a oy
.—. ._. Xy oy dy
Py T "

by changing the order of integration. 4

Evaluate

the integral being extended to the positive octani ot

1 b
the sphere 2 o7 4 -7 2. 4

Section 1

Prove that the Fourier coeftficients

Q:::; 3:_
of & bounded and integrable function f on | -7, |

are null sequences. 4

{b)
500G
{h)
6. (as
(b}

md the Fowrser the function
f(x}y. where. 4
0. —it <)
Tl =y .
P 0«xy-m
L
s
. n°
Hence deduee tha Rt = -
3

=1 -cosy i the

a Fourier series for

literval (9. 2m 4

weooseries for the function

— v - a0 an e intersal (0, %) upto first three

[CTE~, 4
Section {1

A angle-valued comttuous unction i) = nwwiv

tholomiorphic ina domai Dt "

BN
CNEL @i contntous and satisites CR equations at

cacl point o . 4

Peg iz =+ iv represents the complox potential

for an electric | y o find

X7+

e value ol 4

{2-00) L-1832 3 PO,



(b

9. (a)

(b)

L-1833

Section IV

Let Vobhe an inner product space. Then show
that : 4
Hov S v YyovsV

Using Gram-Schimidt process, find an ortho-normal
basis of the subspace W of V4(C) spanned by u, =

CLo000) Ly =20 T 0. 4

Let T be a lincar operator of a {inite dimensional
mner product space V(F). Show that T can be
uniquely expressed as a sum of self-adjoint and a
shew svimmetric operator. 4
Show that i «. B are vectors in a unitary space V.
then 4

A
-1

o+ IR I@.mw + i+ i)

4 12,500

Roll Total Pages : 04
GSQ/M-16 1833
MATHEMATICS
BM-362 :

[.inear Algebra

Time @ Three Hours) [Maximum Marks : 40

Note © Attempt Five questions in all. selecting at least one

question from cach Section. Q. No. 1 is compulsory
(Compulsory Question)

1. (a) Define Rank and Nullity of a lincar transtormation.
2

(b)  Define normed vector space. 14

(¢c)  Prove that simitar matrices have same characteristic
polynomial. 14

(d)  Define orthogonal complement of a orthogonal
complement of a vector space. 14

(¢)  State neeessary and sufficient condition for a veetor
space V(F) 10 be a divect sum of its subspaces W,

and /e.u. 1'%

(2-09) L-1833 .0,



2. @

(h)

"

&)

i

{b)

4]

{a)

L-1833

Section 1

e [incar sum of two subspaces W and W, of a
vector space VF) s @ subspace gencrated by the
unton of Woand W, 4
Extend the sews of veerors (1,020 3. (2 =2, 0y wo

form a basis of RY 4

IRV

a subspace of a finite dimensional vector
space V() then W is finite dimensional and dim
W < dim V. Also dim W = dim V ittt W =\ 4
If' W is a subspace of V. = V,(R) generated by
(1. 2y find V/W and 11s basts. 4

Section 11

Prove that every n-dimensional vector space U(I)
1s isomorphic to F7

Foray = (110 =Dy s = (1o Th oy = (1 =10 2)
1o be basis of RY let T ¢ RY = R? be lincar
transformation such that Tuny) = (1. 0% T, =

(0. 1) TGe) = (17 1), Find T.

Prove that if T U — V is a lincar transtormation.

then WTker T = (U 1

I3

(b}

(65 = v v vyl is a basis of V3(R). defined by
v = (oo by, = -1 Doy = (10 1L ~1), Find

the dual basis of . 4
Section 1

T, - U—>Vand T, 1 V o W be two invertible
linear transtormations. then prove that ;
()  T,T, is also mvertible
(i) (T,Tr =T,'1,! 4
Let T2 RY — R? be a linear transformation defined
by T(x, 3 2) = (2x + y - z. 3x — 2y + 42). Find the
matrix of T with respect to ordered basis B, = (1,
L1). (1,1.0). (1.0.0)}, and B, = {(1. 3), (1. 4)} of
R? and R? respectively. Also verify that :

[T : By. ByJ[u. B{] = [T(). B,] 4

Prove that characteristic polynomial and the minimal

polvnomial of an operator T have the same

irreducible factors. 4
s

Show  that the matrix A= P is  not

diagonalizable over the Field C. 4

(2-09) L-1833 3 P.T.O.
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GSQ/M-16 1834
MATHEMATICS
BM-363

Dynamics

Time : Three Hours) [ Maximuwm Marks : 40

Note @ Attempt Five questions in all, selecting at least one
question from cach Scetion. Q. No. 1 is compulsory.

Al questions carry cqual marks.
Compudsory Question

Loty N passenger tranvedling in atrain with velocity 90
kovhr on a straight level track observes that another
train wluch is 180 m long and moving constantly in
the same direction takes 4 seconds to pass by, What
15 the velociny of passing train. 2

() A mass ol 4 Ky is drawn across a rough horizontal
table by means of a string passing over a smooth
pulley fixed at an edye of ihe table and supports a
mass of 2 kg at the other end. 1f the coeflicient of

friction be 3716, find the acecleration of the masses

{2-09) L-1834 . P.T.O.



_,.ﬂ

11434

tothe tme of lieht of a_bullet over a 3. (ay  Show that if the displacement of a particle moving
e Kois T oseconds: the inclination of in-a straight fine 1s expressed by the cquation
of prejection 1o the horizontal s x=ccosa +hsinn . then it describe a simple
o Harmonic motion whose amplitude 13 /\: + 42 and
T 2 . :
- pertod 18 27/, 4
. ] {b)  Prove that the work .done against the tension in
plane under a central torce : : . .
i o . . stretching a light elastic string is equal to the product
which varies mversels as square of the distance .. . . o
- _ - i of its extension and the mean of the initial and
from the fixed point. To find the orbit i .
final tensions. 4
cvcloid S = 4¢ simyr with
.d,f,&n_.::c: at any point. Section I1
Section | 4. (a) A body of mass m 1s placed on a horizontal U_m:n
Section .
which 1s moving with constant acceleration /.
. " find the pressure of mass m on the plane if
aocurve is an cawmangular spiral o= ge™0™ and . S .
(1 the acceleration is in the upward direction
1 the radius vector of the particle has constant . o L
o “ : , {1y the acceleration’is in the downward direciion
anvular velocitv: show that the resultant acceeleration (itiy what happened if the doswnward acceleration
ot the particle makes an angle 20 with the radius of the plane 1s more than the acccleration due
2 o gravity,
vector and s el magnitude — . where v ois the (b} Two particles of masses m; and m, are connected
F 2
. ‘ . by a light in extensible string: m, is placed on the
velociiy of the particle. 4 i . -
smooth horizontal table. The string passes over a
A particle moves along the curve v = 40y = 01 light pulley at the edge of the table and m, is
.\M Ml—:ﬁ_ :._ﬂ m.‘m:_ﬂ_ﬁu::nﬂ—w 5:& “w:ﬁ_.:mw_ N—Ffﬂ—m‘uﬂ.m—zoz H: _Am:um_sm :.@nu_/ T‘_Sﬁ— H_ﬂm Sao:o_‘._. :._@ 7“3%—05 —3 :J_PJ
R 4 string and the pressure on the pulley. . 4
2 {(2-09) L-1834 3 P.T.0.
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()
6. (a)
(b)
7. (a)

L-1834

Anr engine of horsepower H. draws 1 tran of mass
M tones up an incline of 1 in 5 Against a resistance
ot m Ibs at per ton. Show 1hat maxmum speed of

350H,

TR ‘,

the train is
Prove that in anyv displacement of 4 particle. the
change in KT iy cqual 1o the work cone by the

prepressed lorees acting on the particle. 4
Section T11

A heavy particle slides down a smooth cvelornd
starting from rest at the cusp. the axis being verticle
and vertex downwards. Prove that magnitude of the
acceleration is equal to g 4
Two particles are let drop from the cusp of o cyvelond
down the curve at an interval of tme ¢ Prove that
,ﬁ.: /
they will meet in time un(ﬁ. T 4

If vyoand vy be the vilocities at the end of a facal

chord projecticles path and "1 the horizontal

component of the velocity, show that - 4
o 1
e
Yoo
4

Aav \) mu~ [ AW -
H ﬁ “.v wm i3 1 29 ; m I {
& IR ( T nu/ Os¢ > _...,
3 I ¢ S 1 ¥ V i ¢l 1n 15 uufﬁ [ Il 1 i) A - L
: _m: __ _WA rig " (S e N

falls gt C. Show i

tar :}d.

and grazing (he vertex g

lat the ;

)

ngle of Projection |

4
Section v

nun & >
C i n

4

znoiﬁ.m:::

pedal fory

(b : artie
) A particle Moves wirh a centryl
Chlry

y;

distance)  Find the st
E;EEL nd the pahy and distingyigf, the cases
$ (SRS

4

- Am ; C v el
@ y ﬁrﬂ m_ﬂw:ﬁ.f~ dar Q _ 1 3 ;Dﬁu::\v.f uw
wﬁ & DL

. . a certain plane
Is orbjt round ;i S

I sun are 30 kny/
fespectively, Find the

in
o eoand 2y

| accentricity o
o TICItY of (he
b) To g : :
find the acceleration of g particie

. N termg of
r noca_:mﬁmz.

4

cvlindricy) pola

~019) L-1834
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UNIT-V
(Compulsory Question)

9. (a) If the tangential and normal accelerations of a particle
be equal, prove that the velocity varies as eV, 2

(b) Define Newton's Third law and Kepler's [st law. 2

(c) Write the formula for horizontal range and time in
projectile. 2

(d) Define Power giving units in M.K.S. and F.P.S. 2

1834-R/17,000/KD/1857 4

Roll No. e

Time : Three Hours]

Total Pages : 4
GSQR/M-16 1834-R

DYNAMICS
Paper : BM-363

iMaximum Marks : 40

Note : Attempt five questions in all. Select one question each from

1834-R/17,000/KD/1857

(a)

(b)

(a)

(b)

Unit-1 to Unit-1V. Q. No. 9 (Unit-V) is compulsory.

UNIT-I

A particle moving along a circle » = 2q cos 0 in such a
way that its acceleration towards the origin is always
zero. Show that the transverse acceleration varies as the
fifth power of cosec 8. 4

The tangential acceleration of a particle moving along a
circle of radius a is A times the normal acceleration. If
the speed at the certain time is u, prove that is will return

: . a
to the same point after a time — T - m-ua.@.
Au

A train is moving at a speed of 44 km/h. A stone strikes
it at right angle with a speed of 33 km/h. Find the
magnitude and the direction of the velocity of the stone
with which it appears to strike the passenger sitting in
the train. 4

A particle starting from rest and executing S.H.M. of
period 18 seconds travels 10 inches in 3 seconds. Find
the amplitude, maximum velocity and the velocity at the
end of 3 seconds. 4

[P.T.O.



(a)

(b)

(a)

(b)

UNIT-1I

An engine of mass 30 tons pulls after it a train of

|
130 tons. Supposing the friction to be 50 th of the weight

of the whole train, calculate the force exerted by the
engine if at the end of the first mile from the start the
speed is raised to 45 m.p.h. 4

If the string of an Atwood's machine can bear a strain of

1

only Py of the sum of two weights, show that the least

V3

possible acceleration is EXA 4

A train of mass M Ibs is ascending a smooth incline of
1 in n and when the velocity of the train is v ft/sec. its

acceleration is f ft/sec?. Prove that the effective horse -

My (nf + g)

power of the engine is
550ng

A balloon of mass m is rising with an acceleration f,
Prove that the fraction of weight of the balloon that must

mf

be detached in order to double its acceleration is 2f+ g

assuming that up-thrust of the air remains the same.

1834-R/17,000/KD/1857 2

(b)

(b)

(b)

(b)

1834-R/17,000/KD/1857 3

UNIT-I1I

A ball is thrown from the top of a tower 200 ft high with
a velocity of 80 ft/sec. at an elevation of 30° above the
horizon. Find the horizontal distance from the foot of
the tower of the point where it hits the ground. 4

If at any point of a parabolic path velocity be u
and inclination to the horizon be B, show that the
particle is moving at right angle to this direction after

14

time M cosec J. 4

A particle of mass m slides down a rough curve under
gravity in a vertical plane. Discuss the motion, 4

A bead moves along a rough curved wire which is such
that it changes its direction of motion with constant
angular velocity. Show that a possible form of wire is an
equiangular spiral. 4

UNIT-IV
Obtain the differential equation of central orbit in
reciprocal polar co-ordinates. 4
A particle describes the equiangular spiral r = g0
under a force to the pole. Find the law of force. 4
The greatest and least velocities of a planet in its orbit
round the sun are 30 km/sec. and 25 km/sec. Prove that

|
the eccentricity of the orbit is I 4
If v, and v, are the linear velocities of a planet when it is
respectively nearest and farthest from the sun then prove

that
(l—ey, =(1+ €)Vvs.
[P.T.O.



Roll No. .. Totz]l Pages : 03
GSQ/M-16 1837
PHYSICS
Paper X1, PH-001
Solid State and Nano Physics .
Time : Three Hours| [Maximum Marks @ 40

Note © Q. No. 1 is compulsory. Attempl Fowr more gquestions,
sclecting aae guestion from cach Unit, Use of scientific

non-programmable calculator s allowed.

I, What is Wigner Sicrs prinitive cell ? 2

(by  What 1s the need ol reciprocal lattice ? 2

(¢) lixplain magnetic fevitation. 2

(d)  I=xplaim molecular assembler. 2
Unic 1

1

2. (a)  What do vou understand by Bravais lattices
Fxplain different tvpes of Bravais lattices i three
dimensions. 5

(b)y  Obiain a relationship between the interplanar spacing

for a simple cubic lattice. 3

(2-03) 1.-1837 P.T.O.



4. (a)

(b)

3 (a)

6. (a)

(b)

[.-1837

What do vou understand by a space lattice. unit
cell. primitive and non-primitive cell 7 4
Define and explain Miller indices and write down

their important features. 4

Unit 11 -

Discuss the rotating crvstal method of X-rav
diffraction for cryvstal structure analysis. 5
Show the reciprocal lattice of a simple cubic lattice

15 itself a simple cubic lattice. 3

Explain the concept of reciprocal tattice and discuss

A

its propertics.
From the following data. calculate the wavelength
of the neutron beam and the speed of neutrons.
siven @3 7 30° o = 3.84A. n = 1. Take the mass

of neutron = 1.67-10°77 kg 3

Unit T

Define superconductivity, What is the significance
of critical temperature. critical magnesic ficld and
critical current density for superconductors ? 5
Explain the difference between tyvpe T and type 11

superconductors. 3

7. tay What s Josephson's effect ? Discuss d.c. and ac.
Josephson's effects and explain their importance. §
(hy The actual energy gap at 0 K n lead s
27321077 ¢V 3
() What is the critical temperatute according 1o
BCS theory 7

(1) Radiauon of what minimum {requency could

break apart copper pair in lead at 0 K.

Unit IV

8. (a)  Whal ix scanning electron microscope (SEM) 2
Explain its construction and working. 5
(h)  Discuss the application of nanotechnology in the
field of automobile industry. 3
9. (a)  Explain the henefits and challenges in molecular
manutfacturing of nano-structure. 5
(by  Discuss the application of nanotechnology in the
fictd of Biotechnology. 3
(2-03) L-1837 3 12.600



RoI No. o Totzt Page:

Timie : Three Hours|

Note

(a)

(b)
()
i)

03

GSQ/M-16 1838
PIYSICS
aper X1

Atomic and Molecular Spectroscopy

|“aximum Marks - 40

2o Noo s compuisory Atempt fonr more questions.
selecting  eie question  [rom cach  Unit. Non-

programmable scentthic caleulator is allowed.

What 1 the importance of atomic or molecular
spectra

What 15 g Bohr magneton 7 Caleulate its value.

Explam Pauli's exclusion principle.
What do vou mean by quantisation of rotattonal or
vibratonal cnergy levels of o molecule 7 2x4=8

Unit 1

Discuss Vector Atom Model and various quantum nos.

assoctted with it 8

{u)
(h)

Discuss Hydrogen absorption spectra. 3

What  are  shortcomings ol Bohr-Sommerfeld's

theory 3

(2-0111.-1838 P.T.O.



th

L-1838

ror Explan specral tenms

. and .:). 2
Unit T1

What are penctrating and aon-penctrating orhits 7 Derive

Sxpression for spin orbit interaction cnergy in case ol

penetrating and non-penctrating orbits, 8

(a)  What is Larmor precession 7 State and prove

[ armor's theorem. 5
(by  Discuss Hydrogen {ine spectra. 3

Unit 111

Discuss -8 coupling. When does it takes place 7 Derive
expression for ineraction energy in case of 1-5 coupling.

8

(@) What do you mean by vperfine structure of spectral
lines 7 Also. disviss the causes of hyperline
Structure. . K

by Fxplain. how Pauli's exclusion principle helped in

periodic classitication of elements. 4
Unit IV

What is Zeeman Eftect ? Gite its elassical explanation.
Also discuss the Zceeman
Na. 1+4+3

irern of CH and _,vu lines of

(S

9. (ay What is Raman Effect 27 Give its classical
cxplanation, 1+4

(hy  With exciting lines of 4358 A. a semple pives
Stokes' line at 4458 A, Dedue- the wavelength of

Anti Stokes' line. 3

(2-01) L-1838 3 12,600




rman w N — PV !

iRoll No. ...

Total Pages : 93

GSQ/M-16 1839
CHEMISTRY
Paper XVIIT Opt. (CH-304)

[noreanic Chemistry
Pine - Three THours | | Masimum Marks 27

Note o Nempt Fve questions m all selecting At feast fuo

_ questions from cach Section.
Section A

1. Gy Discuss the fictors respoensible for metal-carbon

bond cleavage in organometallic compounds. 2
(by  Fxplain the strucure of methny lithiun, 2
() CGive fhree methods of preparation of - metal
carbonyvls. 1

2. () Discuss the natare of bondimy metal carbonyls. 2

by Give any nro mcthods ol prepasation and o

impartant uses ol organealuminium compounds. 2
(o) Caleulate effective atomig namber of manganese mn

PMCOH 1%

3 ) bxplain Dux plood concept ol Acids and Bases. 2

(2-01) L-1839 PT.C



(b)

(c)

(b)

(c)

5. (a)
{b)

(b}

(c)

7. (@)

—Ll — muc

Explain how SuCly and CO, behave as lewis acids.

2

Why |Agl, |7 is stable while [Agk, =" is unstable 2
14

What are timitations of HSAR principle ? 2

What are conjugate  acids and bases 2 Give

examples. 2
What 1s pKa 2 How is HCIO, more acidic than
HCIO, ' 1’4

Section B

What are metalloporphyrins ? 2
State  fundamental requirements of biological
nitrogen fixation, 2
What is Co-operativity in Haemoglobin ? How is it

conveved ? 1'%

Discuss the role <" Ca*2 jn biological system. 2
What are simifarity and difference in the structure
of Haemoglobin and Myoglobin and give their
functions ? 2
What are essential elements used in biological

process ? 1%

What is island model of bonding in cyclic
(NPCl,); 2 2

(b)

Sketch the conformations of tetramer (NPCl,),. 2
Draw the difunctional and trifunctional units of

silicones and designate them. 1%

What is meant by cross-linking 7 Explain important

consequences of cross-linking. in macromolecules.

2
Complete the following : 2
()  (NPCly); + 6CH Hegl —» ... .
(i)  (NPCL), + 6NaQR —» ... .
(iii) (NPCly), + 6KSOF — ...
Give /o uses of Phosphazenes. [

(2-01) L-1839 3 10.000



RO NO. v Total Pages : 03

GSQ/M-16 1840
CHEMISTRY
Paper XIX (CH-3053)
Physical Chemistry (Theory)

Time : Three Hours| _.K:x:::,: Marks : 26

Note : Attempt Five questions in all. selecting at least one

question from cach Section.

Section 1

1. (a) What are the ‘teem svmboils™ of molecules in
clectronic spectroscopy ? 2

(b)y In the electronie band spectrum. which transition
out of n - w* and T - * will give greater

mtensity and why 7 What happens if an acid is

present 2%

2. (&) Write a short note on ‘Fluorescence” and
‘Phosphorescence™. What is the ditference between

them ? 2%

iby  What is Chemical Actinometer ? Brietly explain the

working of uranyl oxalate actinometcer. 2%

(2-01) L-1840 : P.T.O.



3. )

14 (@
(h)

{b)

6. (a)

(b)

L-1840

What do you understand by the terms  spin
multiplicity, radiative and non-radiative transitions ?
Explain them by drawing Jablonski diagram. 4
What are photochemical reactions 2 Give one

example. 2

Sate and explain Lamibert's law and Beer's law. 3
a2 mm thick plate of a material transmits 70%
of incident light what percentage will be transmitted

by a 0.5 mm thick plawe ” 3

Section 11

Draw a well labelled phase diagram a water svstem,
What do vou interpret from the slope of the melting
point curve 7 3
What are Colligative properties ? Name them, Using
colligative properties why are abnormal molecular

masses obseérved in certain cases 2

State phase rule and explain the significance of
terms used with examples. 3
Explain the terms -

(i) Triple point

(if)  Transition point

(iii) Eutectic point. 2

7. {a)
(b}
8
(h)

Define Osmotic pressure. How is it determined by
Berkeley and Hartley's method ? 2%
A 4% solution of cane sugar gave an osmotic
pressure of 208 cm of Hg at 15°C. Find its molecular

weight. | 2%

Why there is a depression in freezing point when a
nonvoelatile solute is dissolved in a solvent ? Derive
thermodynamically the relation between depression
in freezing point and molecular mass of solute. 4
Qut of onc molar and one molal aqueous solutions.

which one is more concentrated and why ? I

(2-01) L-1840 3 10,000



(b)

(b)
(c)

L-1841

What are polvsters and polyvamids ? Name the typed
of polymerisation involved. Give one example of
cach with preparation and uses. 4
Give names and structures of monomeric units of
the tollowing

(1} Baketite

(i) Teflon

(i1i)  Polvacrylonitrile (PAN). 1Y

Prepare a dipeptide Glu-Ala by classical peptide
synthesis. 3

What 1s natural rubber 2 1

Draw the structures of Keto-cnol tautomers of-

ethyvlacetoacetate. 1

4 10,000

Roll No

Time : Three THours]

Note

1. (a)

(b}

{2-01) L.

% saseruenarersvarssidstrenn

Total Pages - 04

GSQ/M-16 1341
CHEMISTRY
Paper XX {CH-306)
Organic Chemistry

|Maximug Mars . - 27

ooat jeas o

o

Attempi Five guestions 1 all. selectin

questions frem cach Section.
Section A

Give preparation of sulphonamide from Bo:ene
and s uses. i
Convert the tollowing
(1) Benzene Sulphonic acid into Phenol
(1) Trioether into . Sulphoxide
(ii1)  Alkene into Thiol
(ivy  Ether into Thioether., 2
1) Write equation for the reaction of ethuni il
with -
(1) Mercuric oxide
(2)  Acetone.
(11} Give oxidation reaction of Thioether. Wiy 1S

11 oxidised easily 2 2

-1841 2.0,



2. (a)

(b)

(c)

1-1841

Ginve 4, (a)

(1} Feist-Binary svathesis of Puran

Fuplain the following
(1) Piperidine is more basic than Paridine. 2

{ity  Pyrrole s acidie Tike phenol.

(1) Skraup svnthesis of Quinoiine. 2 . n L
. {b)  What are svatheiic deteruents 7 Give name and
Give mechanismy of Elecirophilic substtution Structurs Of anv . 1%
reaction in Pyvridine. Why doces 1t take place only at (¢) Plectrophilic substtution in Iso-Quinoline takes place
. o : Tich rine ar ; D e N . 2
position 3 7 1, i which ring and why 7 Give one exaimple. 2
What happens when Section B
(1) Pyrrole is treated wich - _ . . , . .
A, (a)  Cuarry cul the synthesis of the following rom ethyi
(1) CHCL/KOH AceLoacele | 3
(2) Cr0yCH,COO0MH, (1) Zemethy!-2-penianone
. . . : 1 Butaneie acd.
(i) Furan is treated with Benzvie, _ 0 ¢ ot
S . - . (by  Why a-hvdrogens in carbonyl compounas are acidic
(i) Thiophene is treated with diazomethane. 2 . _— . .
in nature " They are more acidic m malonic ester
. . . N . than cthyi acctate. Explain. 24
Describe the orbital picture of Thiophene and discuss
its aromatic character. 2 6. (a) Give synthesis ol alanine by Gabriel Phthalimide
. . . . i svithes 2
Why does Pyridine give nucieophilic substitution - . ) . . . . _
{by  Txplain the following with reterence 1o amino acids
reactton but not Benzene 7 1'% v
and proteins
What happens when : (1) tlectrophoresis
()  Indole is treated with Sn‘HCI ity EFssential amino acids with fro examples
.. o . . (1) Zwiiter on. 12
(i) Quinoline is treated with Bra/Ag,50, . . , )
’ i) Draw a svucture of Tripeptide Glv-Ala-[eu. What
so-Quinotine is treated with Alkaline KMnQO . ‘ . : : ,
(i) Iso-Quinotine is treated lkal TnC, do von mean by Neterminagl amino acid residue and
. Vg . - - ; R . . .
(iv)  Pyridine is treated with NaNH, at 373K, 2 C-termival amine acid residue. 2
2 (2-01) L-1841 3 P T.O.



3. Wrie notes on the follovmy

ta)  Michachis Menten Constant

(b}  Ethvlene as growth horomone. 5+3=8
4. Write notes on the following :

{a)  Gibbercllins

(h)  Abscisic acid as growth inhibitor. 4%2=8
5. Write notes on the following :

(a)  Alpha-Oxidation

(b) Unsaturated fatty acids. 4x2=8

Section B

6. Describe the mechanism of Nitragen fixation 1n

leguniinous plants, 8
7.  Write notes on the following :

(a) Nitrate assimilation in plants

(b)  Nitrogenase cnzyine structure. 4x2=8
8. What do you mean by Genetic Engineering 7 Give a brief

account of recombinant DNA Technolgoy. 4x2=8
9. Discuss the following :

(a)  Agrobacterium vectors

(by Cellular totipotency. 4x2=8
L-i844 2 2.800

ROl NO. ceecnnnnessnniamsesenses

Time : Three Hours]

Note

2.

Total Pages : 02

GSQ/M-16 1844

BOTANY
Paper 1
Biochemistry & Plant Biotechnology

[Maximum Marks : 40

I Q. No. 11 compulisry.
1 Unit.” All questions

. Attempt five questions In a

Attempt 1wo questions {rom cac

carry equal marks.

Compulsery guestion :
(a) Define Coenzyme.
(by  Auxine derived from which anno acid.

(c) What is Bolting @ ..

(d) ZE,:m the hormone which induce de-novoe synthesis
of hydrolytic enzymes.

(e) Restriction Nuclease Enzymes.

(H C OSMID Vector.

(g) Electroporation.

(h) Polymerase Chain Reaction (PCR). 1 x8-=8

Section A

ode and mechanism
8

P10,

What are Enzymes and explain their m

of action ?

(2-02) 1.-1844



3. Write in brict on the following

ta) Tomato Roll Noy e Total Pages : 02

() Hlae i+ GSQ/M-16 1845
4. What are oils ? Give a brief account of origin. distribution. . BOTANY

botanical description, cultivation and uses of coconut. 8 Paper il

5. Write short notes on the tollowing Economic Botany

(a)  Gram ~ Time : Three Hours| [Maximum Marks : 40

(by Cotton. 4+4

1

Note . Atiempt Five questions in all. selecting at least nvo
Unit 11 questions from cach Unit. Question No. T is compulsory.

All questions carry cqual marks.
6. Give a concise account of morphology of plant part used.

cultivation and uses of 1. Answer the following
{a) Cinchona () What is the morphological nature of Jute fibres 7
(by Ferula. 4+4 (by  Which part of wheat grain contains proteins 7

. . . (¢)  Why are pulses rich in proteins ?
7. Write short notes on the followng : o . . .
() Tlow veuctable oil is converted into vegetabie ghee ?
(a) Hevea F . e T

(¢} Which part of poppy plant is a source of opiunt 7

(b)  Sugarcane. 4+4 . . . . : :
() Which Indian state contributes maximum in the
8.  Write in brief on the following : production of coflee ?
(a}  Timber (v What is Valcanization
(b)  Bio-fucls. 4+4 (h)  What are spices 1 x8=8§
9.  Write short notes on the following s
Unit 1
{(a) Tea
(b) Neem. 4+4 2. Give o concige account of oripm, distribution, botamcai
deseription. cultivadon and ases of rice. 8

L-1845 2 2.800 (2-01) L1845 P.T.0.



FOH NGO e Total Pages : 03

GSQ/M-16 1846
/ZO0LOGY
Paper !

Aquaculture and Pest Management-1

e Howrs| L Maximum Marks ;40

Sate o Attonpt five questions o alll selecting at least ivwe

giestions cach irom Scetion A and B. Q. No. 1 s

comnulsory

i Faniain the followme in about 20 words
(ay  Post
iy Muaguots

icy  Marine fisheries

Dinghr

fei Scoop na

——

() Shell tishes
{gy  Polar lakes
() Oligophagous
(1y - Caterpiiar

t1y  Zoological name of rice stem borer, 1.3x10=15
Section A

20 (ay Descerhe the lake fisheries o detail 3+3.25

1200y L.-1840 P.T.0.
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(@) Waorld Fish deprad il

by Molluse Culure

Wrnite notes on the oflowing

iay  Cold water

o Siors

~eetics K

Erptiin the systeniatie s




Roll NO. vveeceaeennne

Total Pages : 03

GSQ/M-16 1847
Z001.0GY
Paper-11

Aquaculture and Pest Management-11

Time : Three Hours! taximum Marks : 40

Note © Attempt Five questions in all, sclecting at least osne

question from ecach Section. Question No. T 18

computsory. All questions carry equal marks.
(Compulsory Question)

1. (a) Name the gears used for spawn collection.
(by Define feed.
(¢)  What arc rearing ponds 7

(d)  What 1s hybridization ?

(e} What do vou mean by polyculture 7

(N Write the Zoologzical name of Rice Weevil.

(2)  What are carbamates !

(h)  Name tew biological agents used for control of

mseet pest.

(3-01)[.-1847 PT.0O.



N

1.-1847

()  What is Debarking 7
(j)  Name nvo hormons used 10 conltroi mscet pest.

Pl 10=15

Section A

Describe riverine spawn resource investigation techniques.

{35
Write notes on the follow:ag :
(a) Running water colturz 3V
(b} Cage culture 3

Explain artificial fish food. What characteristics 1t should

have " O

Discuss the following
() Cryoprescrsation of +ametes. LA

(b)  Monosex culture. 3

Section B

Describe the systemic pesivon. habits and natire ol
damage caused by the folcwing

0y Callosobruchns macilains 3

(by  Triholnon custanetin R

T4

9.

\I\.
Niscuss i detail about the biclogical methods to control

nsect pests. 61,

Explain the usc of the following 1 insect pest
management :
{a}  Pheromoncs 3%

(by  Anufecdanis 3

Write a note on nature and extent of damage caused by

rodent pests and pestiferous birds. 64

R 186
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GSQ/M-16 1850
ELECTRONIC
Paper—1

Microprocessor Architecture and
Programming-11
{Theory)
Toe : Three Hours) [Maximum Marks 170

Nete - Attempt Five guestions in ail. selecting at Joant one

question from cach Unit. Question No. 1 iz conpulsory.

1. (&) Make a control word for the foliowing confignration
of 2255 A in mode 0 :

Port A : input

Port Cy; : input
Port B : outpui
Port C; : output b

{(b) Differentiate between Hardware and software
interrupt in bnef. L
{¢) How many counters are there in 8253 and hLow
these are selected ? ?
(d) Flaborate in brief, the role of D.M.A. in datz

iranster, Z

{24317 L-1RED AN



Unit I

2. {(4) Explain Interrupt driven input/output data transfer
schome. 6
(Y Discuss EJ and DU instructions with  suitabic
cxample. ]
3, (a) What is an interrupt 7 How data is transferred
between the Micreprocessor and /O devices ¥ 6
{by Ditterentiate between Maskahle and Non-Maskahle
rHeTTUpts. 2

Unit I
4. («) Thscuss bii pattern for control word format of
8255 A, 3
by Write an assembly language program to generate a
square wave of 1 KHz frequency using 8255 A.
The wave should be available at PA pin of Port A
5
5 Discuss in detail the mode | output configuration of
$255 along with its control word and status word. 8

Unit 1
6. 1a) Explain the bit pattern of control word format of IC
§253.4
L-1850 2

(h)  Write a program m Assembly language i nitialize

%333 to lpad counter O in reode bocvith TRDNDH

ot ohe aend ozs RATE

penc of 2 OViHY clock stmal

s upplied w0 CLE terminal of the counter 4

8. Explain in detail Microprocessor based washing Machine

contro} system along with assembly language program.

8

9. (a) Draw block diagram oi 82

Wi

7 D.M.A. Controiler.
Discuss fupction of cach block, 6
(b) Discuss, how 8257 programimed in rotating

priority oplioi. 2

{3-01) L-1850 1,100
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(b

(c)

(b}

[.-1851

Unit IV

When passing an argument to a function. what is
the difference between passing by value and passing
by reference ?

When a one dimensional character array of
unspecified length is assigned an initial value, what
extra character is automatically added to the end of
the string ?

Describe the array that is defined in the following
statements. Indicate what values are assigned to the
individual array elements

(1) int Z[12] = {0, 0, 8, 0, 0, 6}

() flot C[8] = {2., 5, 3., 4.} 224

How a pointer variable declared ? What is the
purpose of the data type included in the
declaration ?

Explain the meaning of the declarations

(1) char C1, C2, C3

(1) flot * pa = &a;

(11 double *a [12];

(h) long (*p) [10] [20]; 1.4

4 1.160

Roll No. ...ivnininiiinininnnes Total Pages : 04

GSQ/M-16 1851
ELECTRONICS
Paper II (Th)
Introduction to C and its Programming

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

Attempt one question from each Unit.
Compulsory Question

1. (a) Name and discuss the four basic data types in C.
(b What is the purpose of the printf function ? How is

it used within a C program ?
{c)  What are thc advantages of using functions in C ?
(d} How are multidimensional arrays defined ? Compare
with the manner in which one-dimensional arrays

arc defined ? 2x4
Unpit ]

2. (a) Explam the purpose of cxpressions
(a " 1 = 0 and a
(hy Discuss Relatrmal and Togical operators in C.

(2-14) 1.-1851 P T.0.



(h)

4. (a)
(b)

(b)

L-1851

Faplam assignments and Conditional operators in
£
Wha 1s an array variable ? How does it differ from

ordinary variable ? 4,4

Unit 11

What is the purpose of the ifelse statement ?
A C-program contains the following variables
declarations

flot a = 2.5, b = 0.0005, ¢ = 300
Show the output of the following printf statements :
(1)  Printf ("% f% %7, a, b c)
(1) Printf (“%3f% 3f% 317, a, b ¢)

What is the purpose of Switeh and Break
statement ? Explain with example.

Describe the output that will be generated by the
following C program

#include<stdio.h>

main{ )

Inti—-0, x=0;

while (1 < 15) {

(b)

(c)

(b)

if 1 % 5 == 0) {
X +=1.
printf (“%d”, x);
1
i
++1;
h
Printf ("*\ n x = % d”, x);
} 4,4

Unit 111

What are formal and actual arguments ? What is
the relationship between the two ?

Can a function be called from more than one place
within a program ?

Explain the meaning of the following function

prototypes
(i) int { (int a),
(1) double f (double a, int b); 2.2.4

How arc arguments data types specified in a function
prototype ? What 1s the value of including arguments
data types i function prototvpe 7

Each of the following is the first line of a function
delinition. Explain the meaning of the lollowing
(1) flot { tlong a)

(11 char f (void) 4,4

(2-14) 1 .-1851 3 P. T.O.



(b)

(c)

(b)

1.-1851

Unit IV

When passing an argument to a function. what is
the difference between passing by value and passing
by reference ?

When a one dimensional character array of
unspecified length is assigned an initial value, what
extra character is automatically added to the end of
the string ?

Describe the array that is defined in the following
statements. Indicate what values are assigned to the
individual array elements :

(1) mt Z[12] = {0, 0, 8, 0, 0, 6}

(i) flot C[8] = {2., 5., 3., 4.} 2.2,4

How a pointer variable declared ? What is the
purpose of the data type included in the
declaration ?

Explain the meaning of the declarations

(1 char C1, C2, C3

(11} flot * pa = &a,

(1) double *a [12]:

(1v) long (*p) [10] [20]; 4,4

4 1.100

Roll NO. cooveereeerereccaneee Total Pages : 04

GSQ/M-16 1851
ELECTRONICS
Paper II (Th)
Introduction to C and its Programming

Time : Three Hours} [Maximum Marks : 40

Note : Attempt F7ve questions in all. Q. No. 1 is compulsory.

Attempt one question from each Unit.
Compulsory Question

1. (a) Name and discuss the four basic data types in C.
(b)  What 1s the purpose of the printf function ? How is
it used within a C program ?
(cy  What are the advantages of using functions in C ?
{d) How are multidimensional arrays defined ? Compare

with the manner in which one-dimensional arrays

arc defined 2x4
Unit I
2, (ay  Explam the purpose of cxpressions
fa "4 > - =0 and -
{by  Discuss Relatnal and Logical operators in C.

(2-14)1.-1851 P.T.O.
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GSQ/M-16 1852
COMPUTER SCIENCE
Paper-1
Relational Database Management System

(For Regular Students only)

[
'

B.A.
Time ; Three Hours| - [Maximum Marks gTw e

=

Note ; Students are required to attempt five questions in afl.
Question No. 1 is compulsory, Inaddition to compulsory
question. students are tequired to attempt four more
questions. selecting one question from each Unit. All

questions carry equal marks.
(Compulosry Questions)

1.  Write short notes on the following
(a) Draw a skéich of Network data model.

(by  Write the conditions for 204 normal form.

(3-01) L-1852 P.T.O,



Lo

rh

(¢} Ditlerentiate between Primary Key and Unique Key.
(dy)  List the name of different control statement used in
PI.SQL. 8/5

Unit |

What is relational algebra 7 Discuss relational-oriented

and set-orienied operations with suitable examples. 85

What do vou mean by Data Model 7 Draw a comparative
sketch of Relational Data Model with Hicrarchical and
Network Data Model. 8/5

Unit LI

What do vou mean by Relational Caleulus ? Differentiate
between Tuple Relational and Domain Relational Caleulus.
8/3

What is Normalization ? Why dowe need it 7 Discuss
similarity and dissimilarity between 3NF and BCNE. 8/3

Unit ITI

Explain the following SQL statement with syntax and
example :

(a) Alter and Update Statement

(b) Rollback and Commit Statement. 8/3

Discuss the different types of Constrairts with example.

What role constraints play in SQL ? 8/5

[.-1852 2

(3-01) L-1852 3 4,400

Unic IV

What is PI/SQL 7?7 How are variables declared in

PL/SQL 7 Write  a note on EXCEPTION block. 8/3

What arc the advantages of PL/SQIL. 7 How control

structure achieve iterative control in PL/SQL ? 8/3



RolINo. vt Total Pages : 03

GSQ/M-16 1853
COMPTTER SCIENCE
Paper {1
Computer Networks -

=z
e
o

Aa
=

Time : Three Hours| [Maximum Marks

rry
>
to
thn

Note : Attempt five guestions in all, selecting at feast one
question from each Unil. . No. 1 1s compuisory, All

questions carrv equal marks.
Unit ]

1. 1) Detfine Computer Network.
(1) Explain varteus types of Computer Network,
(itiy  Define Protocol
(v)  Explain various elements of protocol.
vy Define Modem.
(vi) What is error mma types of error ?
(vii) What 1s pure ALOHA 7

{(viii) What is shortest path algorithm ?

(2-12) 1.-1853 P.T.0.



Unit 11
2. Why is OSI model used ? Fxplain vagious layers of OS]
model.
3. What is Computer Network 2 Explain various types of
network topologies.
Unit H1
4. What is Switching ? Explain various types of switching,
5. Write short notes on the following :
(1)  Bandwidth and Data Rate
(11} Guided and Wireless Transmission Medin.
Unit v
6. (a) Explain various methods of error detection and
correction. . .
(b)  Explain the categories of Gigabit Ethernet.
7.  Write short notes on the following :
(1)  Slotted ALOHA
() Tokea E:m._\
L-1853 R

Unit V
8. What is routing and types of routing algorithm ?

9. Write short notes on the following :
(i) Digital Signatures
(i)  Congestion Control.

(2-12) L-1853 3

4,400




Unit 11

eouss the totlowing . 8
- Plain and Formatted Text
i1 RTF and HUML Text

(b Discuss basies of tont-Design,

8. Explain Graphics use m Multimedia, Also discuss vartous

file formats of Images. 8

Unit 111

v, Define sampling. frequency. sound depth and channels

for Dngital Sound. 8

7. Explain 3-D Ammation Techniques with emphasis on

Morphing, Rotoscoping and Animation. 8
Unit 1V

% (a)  Write a notwe on Graphics acceleration Cards.
(hy  Discuss various video standards litke NTSC, PAL,
SEFCAM and HIDTY 8

o (ar o Discuss Dyvnanue font Technelogy

(b Write a nete on Vutoal Reality on Wb, 8

L-1854 2 600

Roll No. oo, Total Pages : (12

GSQ/M-16 1854
COMPUTER APPLICATION
Paper-1
Multimedia Tools
(For Regular Candidates only)

e o hree Hours! [Maxamum Marks | 4

Note - Allemipt five questions i alll selectme at least o
question from cach Lt Question No. s compulson

All questions carry equal marks.

1. (a) Name rwo communication devices and /o Memor
devices used in multimedia.
(by  Abbreviate
MPEG. HDTV, CIE, TIF
(c)  Detine Rotoscoping

(dy  Define NTSC and PAL Standards. N
Unit |

2. Detfine Mulumedias Eaplam s use mentertamment and

e AMuscur and Galleries, ~

RIS Detine Muitimedia

thy  Discuss stages of muliimedir production ~

(3-01) L-1854 Pl
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GSQ/M-16 1855
ADVANCED PROGRAMMING USING C++
Paper 11

Time : Three Hours] [Maxmum Marks : 40

Note - Q. No. |1s compulsory. Attempt any four questions oul
of Units L IEIT & IV by selecting at least one question

from cach Unit,

1. (a)  Explain the difference between structure and class
m ierms of Access Modifier. RS
{b)  Explain the role of preprocessor.
(¢} Compare Constructor conversion and Operator
conversion.
(d)  What is the difference between the statements
cin =>> ¢l
&
Ch = cin.get();

Unit 1

RS

(2-15) - 1855 PO,



3.

I-18

What s a virtwal function ? Why do we need virtual

functions ? What are the implications of making a function

4 pure virtual function ? 8
Unit I1
(&) A friend function cannot be used to overload the
assignment opcrator =. Explain why ? 4
(b)  Write a program in C++ which converts one basic
type to class tvpe. 4
fa}  We have two classes N and V. If ¢ is an object of
Noand Boas an object of N and we want o “iy
ahrahat vpe of cons ersion routine shonhd b
used and where ? 4
(b)  Write a program in C++ which converts class tvpe

to basic type. 4

Unit IIT

What docs inheritance mean in (- 7 What are the

different forms of inheritance ? Give an example for

each.

8

Develop an object oriented program in =+ to creatc a

librarv information  system contaming  the following

rformation for baok in lthrary 8

{1
{1)

S5

Accession Nuosher

Name of aathor

L)

(i11)
(iv)
(v)

{vi)

Title of book

Publisher name
Year of publication
Cost of the book,

For designing above program use inheritance.

Y

(1)

Unit IV

Describe how would you determine number of
objects in & file. When do vou  need  such

mformation 7 3

nebon fempiate Jor fnding the minimin

Ve contamed inoan array, 4

Wnitc a program in that demonstrates how
certain exceplion types arc not allowed to he thrown.

4
Discuss the advnatages of saving data in binarv

form. 1

(2-1531 1833 i (H)



{b)  How are objects and metheds uzed in Java seript 7

Give example, 8
3. Explam the following with examples (in both VB/lava
seript) 8x2=16
{(a)  Control Statements
(h)  Functions.
Unit II
4. What is Animation 7 Which tools are used to animate an
object 7 Give examples. 16
5. Make a website of vour choice with dream weaver, 16
Unit 111
6. Explain color management. , to
7. Write a website from “Haryana Tourism” using CSS. 16
Unit 1V
8.  What are the featurcs of Front Page ? 16
9. What is the structure of XML ?* How can it be connected
to Database ? 16
L-1893 2 . 1,900

R NO. covvrinccvciveeee, Total Pages : 02

BCR/M-16 1893
WEB DESIGNING USING
ADVANCE TOOLS
BCA-361

Time : Three Hours! [Maximum Marks : 80

Note :

Q. No. 1 13 compuisory. Attempt one question from
each Unit,

1. Explain the fllowing :

(a)
(b)
{c)
(d)
(e)
{f)
(g)
(h)

Links

Message and Input Box
Frames

Formatting Bar

Scroll Bar

VB Script data types
Transitions

Animation. 2x8=16

Unit I

How is embedding done between scripting languages
and HTML ? Give example. 8

(2-12) L-1893 P.T.0.
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BCA/M-16 1894
OPERATING SYSTEM-II
BCA-362
Time : Three Hours) [Maximum Marks : 80

Note : Attempt Five questions in all, selecting at least one

question from each Unit. Q. No. 1 is compulsory.

1. Compulsory O:ommos. :
(i) Explain advantages and disadvantages of single level

and two level directory, 4

(i1} Define seek time and latency time. 2
(i) Explain logging in and logging out of linux. 2
(iv) Describe the structure of file system in linux briefly.
4

{v) Write a short note on /O in shell, 4

Unit I

2. (a) Explain two process solutions for critical sectio :s.
6

(b)  Explain Deadlocks and Starvation problem in
semaphore. 5

(c)  Write a short note on Critical Regions. 5

(2-12) L.-1894 P.T.0.



(a}  Explain in detail the concept of Monitor, What are
its characteristies. 6
{b)  Explain Acylic Graph Directory and General Graph

Directory.  Also explain  its advantages  and

disadvantages. 10
Unit 11
4. (a) Explain FCFS and SCAN disk scheduling algorithm
by using suitable examples. 8
(b)  Write short notes on the following :
(1} Disk Imnlententation
(11}  Boot Block. 8
5. Define distributed systems. What are the advantages of
distributed systems ¢ Also explain Data Migration,
Computation Migration and Process Migration Coneepts.
16
Unit 11
6. (a) Explain Linux Architecture. Also explam how linux
is different from Windows and Unix. 8
{b) Explain the following commands in Linux
(1) cal
(11)  man
(111) factor
{iv) be. 8
L-1894 2

Explain with examples File oriented and Dircctory ortenied

commands in Lingx, 1a
Unit IV

(2}  Describe various file sysicm comiponieits, 3
{b)  Explain at, batch and cora commands by using
example, 9
(¢} Explain various editing commands available in Vi
editor. 4

{a) mﬁ:&: the syntax of case-esac statement with the
help of program of vour choice. 5
(b)  Write a program to check whether a given number

1 a pallindrome number or not. 8

(2-12) 1.-1894 3 1,900
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BCR/M-16 . 1896
INTERNET TECHNOILOGIES
BCA-364
Time : Three Hours) [Maximum Marks : 80

Note © Atlempt Five questions in all. selecting exactly one
question from ¢ach Unit. Q. No. 1 is compulsory. All

questions carry equal marks.

1.  Compulsory Question :

(2)  What do you understand by WWWwW ?

(b)  Enlist some popular search engines.

ic)  What is the main difference hetween IPv4 and TPvO
addressing 7

(d)  What is IGMP 7

(¢} What do you mean by web-based mail ?

(f) How can remote login be done ?

(¢) What is the difference between Unicast and
Multicast ?

(h)  What is the need of firewall 7 §x2
Unit 1

2. (a) Discuss various ways o credle information on thc
web, 8

(2-12) L-1896 P.T.O.



.

(c: Wnte a short note on Web browser and Chat on

weh. - 8
2. Describe the architecture and lavers of TCP/P in detail.
16
Unit 11
4. (@) What do vou mean by recursive and iterative
resolution in mapping “ Uxpluain, 8
tb)  Explain the packet formats of UNP and 1P protocols,
8
S, Write short notes on the following it
ICMP
{1ty DHCP
iy ARP
{1vy RARP
. ~ Unit i1
6. (1) What is NFS 7 Dxplain i working in detail, 8
(by Explain SMTP and MIMT in detail. 8
7. @y Eaplain the concept of VOIP Tow does it work ©
8
thy  What arc RIP and RCTP 7 4 xplain differences in
their {eatures 8
1.-189%6 2

4

123

()

Unit IV
What is Mobiie 1P 7 Fxplain in detail. 3

Discuss various measures for Internet securtty. 8

What ts VPN 7 Discuss varions tvpes of VPNs, 8

el
[
o
.
-
-
a
!
—~

e tormat along with workig of [PSec.

8

(2-12) 1.-189¢6 3 1,900



RO NO. covvvvsmsinncsasaaenne Total Pages : 03

BCA/M-16 1897
ADVANCED PROGRAMMING WITH
VISUAL BASIC
: BCA-365

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting at least ome

question from each Unit. Q. No. 1 compulsory.

. (a) Explain properties of form.
(b) Differentiate Picture Box and _Emmm Box.
(¢} How can you add shortcut keys to menu items ?
() Explain currentX and currentY properties of

Grraphics. 4x4
Enit |

2. (a)  Wrilc a program in VI to multipy fwo matrices.
10
(b)y  What is purpose of For Each-Next loop ? Write its

syntax and explain with example. 6

{3-09) L-18%7 P.T.0.



3. (a) Explain concept of multiple forms with example
program of your choice. 8
(b) Discuss Drag and Drop operation with the help of
examples. 4
(c) How .can you manage forms at run time 7 4
Unit IT
4. What do you mean by dynamic menu appearance
Describe with examples different strategies tor developing
dynamic menu in visual Basic. Also discuss popup menus.
16
5. (a) What is the purpose of Toolbar Control ? Write
steps to create toolbar of your choice in VB Form.
10
(b) Explain slider control with example. 6
Unit I11 )
6. Discuss file handling in VB giving necessary statements
with examples for sequential file. 16
7. Explain the following with examples
(a) Paint Event
{b) Line and circle Methods. 8.8
L-1897 2

Unit 1V

(a}  What is the utility ot Data Bound Controls ? Explain
various data bound controls with examples.

(b) Explain method to delete record from Database.
10.6

Implement the VB program to maintain the employee

information using MS ACCESS and any database control

{(Empno. ename. dep-no. bp, hra. ta, da. netsal). Where

netsal = bp + hra + ta + da 16

(3-02) L-1897 3 1,900



Unit I

RoOIENO. e Total Pages : 02
4. .nv 0 difterence between overloading and overriding BCA/M-16 1898
16 PROGRAMMING IN CORE JAVA

BCA-366

5. Explain, how to create arrays and sfrings in fava. Describe

vartous operations on arrays and strings. 16 Timce @ Three Hours| [Maximum Marks : &0
Unit 111 Note : Attempt Five questions i all, selecting at feast oie
guestion from cach Unit. Q. No. 1 1s compulsory. All
6. Explain the role of constructor in inheritance. Also explain questions carry equal marks.
various constructors i Juva. 16
1. Faplain the use of super keyword in Java.

7. Explain, what is standard package. Alse explan various baplain, what 1s a package and mterface ?

. . ..J;u.
standard packages in Java 16 What s o Bytecode 7 Explain.

Fxplain veriows argument passing mechanism,

Unit IV Paplam difference between JRE and JVM.

(vi)  Pxplam nested class and mner class.

8. FExplain the concept of cxcepuon handling in rava, (vii) bxplain Lexical token.
Differcuitiate hetween in-built and user defined exceptions (viii) Fxplain, how to import a package. 216
with cxample. io
Unirt |

9. What 1s an applet in Java 7 Explamn. Describe Applet
: : o 2. Txplam various features of Java. Also cxplain basic Y0
architecture. Explain, how to embed an applet into a web

clusses In Java. 16
page ! 16
3. Daplamn decision and loop conwol statements with
exumipios, 16
(2-12) 1 -1RGS PT.0.
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Time : Three Hours]

Note

1.

{a)
(b}

{c)
()

BCAR/M-16 1899
PROGRAMMING IN €+
BCA-361

[Maximum Marks : 80

Student will be required to attempt [ive questions in
all. Q. No. 1 is compulsory. In addition to compulosry
question, student will have to attempt four more
guestions selecting one question from cach Umit. All

questions carry egual marks.

{Compulsory Question)

What 15 role of constructor in nhertiance

Write short note on abstract class i =+ with
suitable example.

What are the advantages of templates 7

How do you declare a file 7 Explam with an

example. 4x4=106

Unitl

Define inheritance. What is its sigmbicance 7 Explain

various types of inheritance supported m - along with

their examples. 16

{3-04) [L-1899 P.T.0.



3. Explamn the concept of private, public and protected access
spectfiers 1n mheritance. Give suitable example 1o
differentiate all the access spec:fiers. 10

Unit 11

4. How can we mplement dyvnamic polvmorphism m ¢ 7
Explain the concept with the help of anv program. 10

5. Write short notes on the following with suitable examples
in C-+ o 16
(2} Virtual Destructor
{by Type Conversion.

Unit IT1

6. What 1s generic programming ? How do we implement
genertcity in O+ using function templates 7 Explain
with suitable example. 16

7. What do vou mcean by an exception 7 How is 1t handlcd
in C- 7 BExplam using any suitable program m €

[ 6
|.-1899 )

9.

(3-043 1 .-18Y9

Unit IV

Explain the concept of file handling in - - Discuss
methods for opening and closig files 0 C- - along with
suitablce examples, 10
Write short notes on the lollowing 16

(ay e Poimers

(hy NManipolators and Frror Handbhng.

3 450



Unit 11

4.  Explam various file and directory oriented commands in
Lirux. 16
5. Explam the fcllowing commands in Linux with their
symax, purpose and suitable exampie . . 16
{a) morc
{by duf
(c) grep
{1y uniqg.
LUnit 111
6. Explair various file svetom componenis of Linux, {6
7. Explain at, batch, cron and time commands with suitable
aramples. i6
Unit 1V
8. What is vi-editor ? Explain the following commands in
vi editor using suitable examples : 16
(a) Creating and saving a file
(b) Opening an existing file
(c) Editing an existing file
{d) Searching text.
9. Explain various control structures i Linux with suitable
examples. 16
L-1900 2 450

RO ND. cccrrcirinsrinnanaisens Totai Pages : 02

BCAR/M-1€ 1960
INTRODUCTION TO LINUX

BCA-362
Time - Three Hours] [Maxamum Marks : 30
Note . Attempt Five questions in 2l & No. s compulsory.
9 oy . 1 + 1 .
In addition to comupulsory question, student will have
{0 attemipt fro, ~ more questions sclecting one quesizon
from each Unit. All questions cervy caual marks,
Compulsery Quesiins
i. {a) Explain Iogging and logging out 1 Lima
(b) Explain write and wall connnend iv Linu.
(¢}  Expiain various file systern ©pes.
id) Explain varicus input/outpa conmands i sheil
. A
programming. 4>4=10
Unit I
2. {a) DPxplain architecture of Linux g
(b} Write at least fouwr differcnces hotweoen Livwe and
Windows, g
3. (a) Explain various features ol Linny, g
(b)Y  Explmn various types of Liru Phatributions 8
vy
12-63) L-3900 . 7.0,



Unit I1
Explain working of DNS.

Explamn the following :

(a) ARP

(b) TCP-Scrvices
(c) RARP

(dy I1CMP

Unit 111
What 1s ¢ mail ? Explain architecture of SMTP.

(a)  Explain VOIP.

(b) Discuss Resource Reservation and RSVP.

Unit IV

What 1s Role of Routing 7 Explain OSPE in detail.

Write notes on the following :
(a) Firowalls

(b)  Notwork Interconnection.

1-1901 2

16

16

i¢)

16

Roll No

Time : Three Hours)

Note

1. (a)
(b)
()
{d)

2.

{3-04y1.-190
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Total Pages : (02

BCAR/M-16 1901

INTERNET TECHNOLOGY
BCA-363

[Maximum Marks ; 80

Allempt Five questions in all. Q. No. 1 is compulsory.

Altempt one question from each Unit,

Abbreviate
SMTP. UDP. DHCP, VPN
What is Anonymous FTP ?

[Discuss Telnet.

Differentiate TCP and UDP. 4x4=16

Unit I

Explain TCP/IP model architecture in detail. Also cxplain

various protocols used in different layers of TCP/IP

Protocol. 16

{a)
(h)

Difterentiate Internet and Intranct.

Fxplain in brief IPV4 addressing and Packel format.

16

P.T.0.
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Time : Three Hours]

BCAR/M-16 1902

VISUAL BASIC
BCA-364

[Maximum Marks : 80

Note : Q. No. 1 is compuisory. Attempt any Four questions

out of units I, IL, III and IV by selecting at least one
question from each Unit. All questions carry equal

marks.

1. In Visual Basic context, comment on the following :

(@)
(b)
(c)
(d)
(e)
(0
(2)
(h)

2. (a)

RAD-environment

Event-oriented

Object-based

Application-oriented

Graphics-oriented

Arrays

Collections in VB

Windows-based. 2x8=16

Unit !

Differenuiate between procedural, event-driven and

object-oricnted languages. 10

(2-03) L-1902 P.T.O.



(b}

3. (a)

(b)

(b)

(b)

“Uhat is Visual Basic ? Discuss different features of
VB. 6

Explain the following in brief :
(i) Form Layout Window

(ii) Project Explorer Window
(iii) Property Window

(iv) Immediate Window. 10

Discuss in brief any six types of projects that can

be developed in VB. 6
Unit 1

Explain inputbox function, MsgBox function and
print methods by using proper examples. 10
What is the scopc and lifetime of a static

variable ? 6

Describe various ways of inputting data in VB with
suitable examples. 10
What is a constant ? Explain various types of

constants in detail. 6

Unit {11

6. Describe in detail the various control structures available

n VB. 16

E.-1902

(b)

What is a collection ? How can you creatc a
collection in VB ? Explain various propertics and
methods within a collection with the help of suitable
examples. 10
How can you declare and define an array of array ?

Differentiate between Static and Dynamic array. 6

Unit IV

8. Write a program in VB having menu items such as File,

Edit and Format. The File menu contains New, Open and

Save. Edit menu consists of Cut, Copy and Paste. The

format menu contains Bold, Italic etc. Write the coding,

show the design and explain the procedure to create this

project.

9. (a)

What is Procedure ? What are its advantages ?
Discuss the difference between Call by Value and

Call by Reference with the help of proper example.

10

(b} Write a program which explains the concept of
passing an array to a procedure. ]

(2-03) [.-1902 3 450
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BCAR/M-16 1903
MULTIMEDIA TECHNOLOGY
BCA-365
Time : Three Hours] [Maximum Marks : 80
Note : Attempt Five questions i all. Q. No. 1 is compulosry.
In addition to compulsory question, attempt four more
questions sclecting one question from each Unit. All
questions carry equal marks.
(Compulsory Question)
1. (a) What is PDF ?
(b) What do you mean by S-video ?
(c)  What is Hypermedia ? Give one classic example of
Hypermedia.
(d) Write a short note on DVD,
(¢} Write a short note on Binary Encoding ?
(f)  Definc Compression Ratio ?
(g)  What 1s MP3 ?
(h)  Write a short note on Run-length coding
Ex2=10
Unit 1
2. {a)  What is Multimedia Softwarc 7 Explain  its
calegories, S
(b What 1s VRML 7 Explatny its various features. 3

(3-03) [.-1903 PT.O.



What 1s Multimedia ? Explain various Multimedia Input

devices. 16

Unit I1
Explain different color models in video ? 16

(a) Explain the difference between RCB and CMY

Model. 6

(b} Explain Color Look UP Table. 10
Unit ITI

Explain Differential Pulse Code Modulation. 16

(a) Explain various types of Audio file formats. 10

(b)  Write a short note on digitization of sound. 6

Unit IV

What 1s dictionary based coding ? Explain LZW

compression algorithm ? 16

(a)  Explain MPEG video compression techniques. 8

(by  Write a short note on H-2063. 8

L-1903 2 450
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SANSKRIT (Compulsory)
Time : Three Hours] [Maximum Marks : 9
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() fo=l 9 & SEyga w9 fafge . 3x]1=3
(i) faw ~ I _
(i) o+ T
(i) A+ TY
(iv) T + =Y
(v) AR + BT
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GSQR/M-16 1926
SANSKRIT
Elective

Time : Three Hours] [Maximum Marks : 90

e gt 9w e ¥
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() f= 3rlm n=eq 2
(iiy -9 == w®I ?
(iii) wremed wisfy fawm: 2
(iv) Y=g Af-afeTg: &g ?
(v} HF A7
(vi) T TH=ER: HHME: 7
(vil) T fAgr w2
(viti) 994 o=y feq 7 5x2=10
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GSQR/M-16 1927
PHYSICS
Paper-Xi
Solid and Nano Physics

Time : Three Hours| [Maximun Marks 5

Note : Attempt Five questions in all. sefecting at least one

B

question from cach Unit. Q. No. 1 is compulsory. Use

ol non-programmable scientitic calculator is allowed.
(Compulsory Question)

l. (a) Distinguish betwen crysialine and amorphous solids.

(B

(by  State Brage's Law of ditfraction. 2

(¢t MWrie a note on Top-down und Bottom-up

Approaches. 3

(d)  Give few appiications of Supercondue ors, 2
Unitd

1 Dxplain different tvpes of Bravais lattives in three

dimicnisions. . 0

(3-04) L1927 1.0,
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27

(a)  What are Miller indices 7 [ow the orieniation of a
plane is specitied by Miller indices ? Explain their
mportance. . O

(by  Desceribe the crvstal structure of Sodium Chlonde.

"
R

Unit 11

) kExplain powder method tor determination of crystal
structure. Why is resolution maximum in the back
dircction ? Explain the usctulness of [Laue, Rotating
crystal and powder method. 6

(b)  The Bragg angle corresponding to the first order
reflectton from (HI) planes in a crystal is 30°, when
X-ray af wavelength 1.75 A are used. Calculate the

Mler-alonic spacing. 3

Find the reciprocal lattices of simple cubie, bodv-centred

tattices  with  suitable

diagrams. 9

cubic and face-centred cubic

Unit 11

(a)  Explain BCS theory of superconductivity. o
(v)  What are high-T. superc-nductors ? Swate their

important properiies. 4

I~

7. Write notes on the following

(@
(b)
(c)

8. ()
(b}
(<)

Y. (a)
(b)

{3-04) L-1927 3

Josephson etfect 4
Penetration length 3
Isotopic efiect 2
Unit [V
What are  the challenges  of  molecular
manutacturing ? 4
Write a short note an Carbon Nanotubes (CNT). 3
Discuss the special properties of nano-materials. 2
Write a note on AFM, 3

Discuss the applicattons of nanotechnology in the

field of clectronics.

4

4,400
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GSQR/M-16 1928
PHYSICS
Paper—XII
Atomic and Molecular Spectrosenpy

Time : Three Hours| [Maximum Marks : 45

Note : Attemipt any Five questions. Q. No. 1 is compulsory,
Scleet one question from each Unit. All questions carry

equal marks. Non-programmable calcutator is allowed.,

1. (&) Canahydrogen atom absorb a photon energy greater

than the binding energy of the atom ? 2
(b)  What do vou mcan by spin-orbit interaction 7 2
{ What 1s lLande’s interval rule ? 2

(d) Explain the meaning of zero point energy of a

molecule 7 2

e}  Write the spectral term of an atom with S= /2,

J=32and g ~ 6/7. 1
Unit 1

2. (a) Discuss the effect of nuclear motion on the spectra
of hvdrogen-like atoms. 6
(b) Calculate the ground’ state energy of electron in

case of L1~ 3

(3-04) L-1928 . P.T.0.



L s Derive an expression for Bohr magneton. 4
)y What do vou understand by Larmor precession 7
Find an expression for [armor frequency. 5

Unit 11
4. On the basis of classical model. obtain an expression for
guantum defect in a penetrating orbit of an alkali element.
9
5. Describe the gencral feature of spectra of alkali atoms.
Explain, how the doublet fine structure is expldined on
the basis of vector atom model. 9

Unit 111
6. What 15 L-S coupling ? Find out the spectral terms
arising due to sp and pd configurations. 9
7. (a)  Show that for a grven principal guantum number n
there are n possible state each of which can
accommodate a maximum of 2-electrons. 3
(b) Lxplain hyperfine structure of spectra and discuss
its origin. 6

L-1928 2

Unit IV

What is Zeeman effect 7 Derive an expression for Lande
g--factor. Show that anomalous Zeeman pattern of a
principie series doublet of sodium by acutal transitions.

9

Explain Raman cffect classically as well as quantum

mechanically. ‘ 9

(3-04) L-1928 3 4,400



RO NO. e . Total Pages : 06

Dwa.:w;b:_S-‘_m 1931
HISTORY
Opt. (1)
Modern World

Fime o Three Hours| {Maximum Marks * 80

Note - Atiempt Five questions i all. selecting at least one
question from cach Unit. Blind candidates may attempt
any ather guestion in Tieu of map question. In care they
attempt the map question. The part relating  to
explanatory rote will carry full marks.

g EE 9 FR 4 R U A T R0, e Ui
gl & T T o TEAA frerel Al w9
S rary T FE A1 WRA R UEA © | AR 3 Ami
ST ged wTN OTE, Al feeml @ s & gl ST
7
Unit |

378 1

1. What Jo you mean by Reformation ? What were the
causes of iis rise 7 16
qE WE AR BT F HEE g 7 3o IA

F PN FWW 9 7

(2-03 1-1931 P.T.0.
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Write an essay on the Agranan Revel

§ wfu owfa wows fvEw feac

Unit 11

ECaElt!

Throw light on the effects and sigmiiicance ol the Glorious

Revolution. 16
meEgr @i % ywa 5 wewd W uEy xien
Write an essav on the American Revolution. 16

Fw W Uwm fREs {=fam o

Discuss the main causes of the French Revolunon 16

FTE wid ® g W OATH EmH

Lnit TH
ECAER|

Write an cssay on the Chinese Revolution of 1949 A1) 10

1949 2. =1 A=W @t we Tw fraw Hian

L-1931 2

8. Ivaduate the mapacts of the First World War, 16
nud fava am & warEl w fAdma wa o
9. Examine the causes responsible tor the Second World
War. 16
fgma favm s F fAw Zmverd D AT R |
Unit TV
ECIEIAY
10, On the outline map of Furope. show Furope on the eve of
French Revoluwtion. Adso add an explanatory note. 10+6=16
T % tEfEa wEtE oW W wE % TE #:
mrq wytzi | um smenarE femon s fafmu
O ( 3ear )
On the outline map of Farope. show polarization of World
War [ Also add an explunatory note. 10+6=16
o CE TEhEA aHiEs H o garT
F1oAvizo | vE SIpFTARE g
Unit V
TV
I qu)  Answer any fowr of the following - 4x2:=8
(1) Wha s father of Renassance 7
{2-03y L-1931 3 PT.0O.




{h)

L-1931

(i) Write the name of the tamous

S AT
by Machiavelli.

(iiiy Mention the date of Fall ot Rasulle.

(v Who invented “Salety Lamp™ *

(v} Who was the "Prophet of New Agriculture
(vi)  Who wrote ‘Discourse of the Tushandry™
frfafas § 9 = wwow T AT
(i) m%aﬂ?ﬂﬁmﬂlﬁau
Gy Bemmaer #1 gfag TR A A
(1i1)
(v}
(v)

)

7
viy fremm s E zrgen wmw P 7
Choose correct answers i the
trofafga § 0 W IR TAT

(i} Who invented ~Drill Machine” ¥

i1y Robert Weston
() Jethro Tull
(3)  Arthur Young

4y Townshend

ze WY w3
(1y AL AR
() g 27

(3] Emefv A

(4y AEFATIE

i}

(i1)

vy

2-03) 1.-1931

I ouis XVE was assassinated 10 which wear
(1) 1ath Juiw 1789
(2)  th May. 1784

(31 2lst January. 1793

12}

(4 30 fEEE T2

First Opium War wits started on ¢
(y 1839 AD.

2y 1830 AD.

{3) 1840 A

4y 1838 A

gy EWH AT UE RS G

(1y 1839

iy

() 1836 3
(3) 1840

Ak,

Al

() IR3¥

Second World War was started in

(1Y 1939 AD.
() 1914 AD.
3y 1943 AD.
(4) 1918 AD.

r1.0.

th
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(1) 193v
2y 1uld

rdy

[ERTEN

(%) Judas

(4) 1918 3

Match the toltowing - 4x1=4
ta) (b

(y  Wealth of Natons (a8} China

iy Opium War (hy George Stiephenson

(i) Stamp Act f¢) Adaim Smith

(iv)  Locomotive Fngine d) Grenwil

famfafma = fies st

(57) (1)
() Aem fE AV () AN
(i) HEM 4G (TS R
(i) T U (m) wen farg
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GSQR(13-15}/M-16 1938
COMPUTER SCIENCE
Paper V
Relational Database Management System

[B.Sc.: 40
Iime : Three Hours| [ Maximum Marks : Mw A 223

Note © Attempt Five questions in all. selecting at least one

question from cach Unit. Q. No. 1 is compulsory.

1. Compulsory Question
(@) What is Relational Database Schema 7
(by  Deline degree of relation.
ic) Dectine fully functiona! dependency.
(dy  What ts drop schema and drop lable ¢command 7
2x4

2. (a)  Detine relation. Explain various characteristics of
relation. 4
(by  Differentiate between entity integrity and referential

mtearnty constraints. 4

{2-03) L-1938 P.T.0O.



o2

(a)  Discuss various tvpes of JOIN operations. Why
theta join operation i required 4
{b)  What is the FUNCTION operation 7 Why 1s 1t used
for 7 4

Unit ¥

(a)  Discuss insertion, deletion. modification anomalies.
Explain with example. 5

{b)  Why arc many nulls m a relation considered bad 7

(a)  Define Normalization. I:xnlain 2NEF and 3NF with

o]

example.

(by  Explain transitive dependency with example. 3

Unit I

What is a view in SOL 2 Tiow 1z 1t defined 7 Discuss the
probfem that may arise when one attempt to update a

view, 8

(a)  How does SQIL allow implementation of the enuty
Hu el

integrity and referential integrity constraints 7 3

(b} Explain anv aro SQI. commands with example. 3

-

1-1938 2

8. Ixplamn various control structures in PL/SQL.

9. Explain various data types avatlable in PL/SQL.

{2-13) L-1935

Unit IV

2,100



Unit 11

4. Explain anv six file oriented commands in Linux along

with syntax and suitable example. 8

5. Explain the following commands in Linux with suitabie

cxamples : 8
(1) more
(11) grep.

Unit I11

6. What do vou mean by inode in Linux ? Which information

is available in node ? 8

7. Elaborate on various job control commands in Linux. 8

Unit IV

8. What 1s vi editor ? Explain various modes of vi editor.

Give examples. 8

9. Explain the following control statements in Linux with

suitable examples . 8
(1)  if-then-fi

(11} case-esac

(1i1)  while

(1v) for

L-1939 2 300

Roll No. oo Total Pages : 02

GSQR({13-15)/M-16 1939
COMPUTER APPLICATION
Paper 1V

Introduction to Linux
Time : Three Hours] [Maximum Marks ; 40

Note : Attempt Five questions in all, Q. No. 1 ts compulsory.
In addition to compulsory question, student will have
lo attempt four more questions selecting one question

from each Unit. All questions carry equal marks.
Compulsory Question

1. (&) What is Open Source Software ? Why is Linux
known as open source software ? 4x2=§
(b}  What is the use of write command in Linux ?
(c)  Elaborate on various file system types.

{(d) Explain the use of echo command in Linux.

Unit [

2. Differentiate between the Windows and Linux Operating

System. 8
3. LExplain basic features of Linux operdting system. 8
(2-03) 1.-1939 P.T.O.
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GSQR({13-15)/M-16 1940)
COMPUTER APPLICATION
Paper-V

[ntroduction to .NET

Time : Three Hours] [Maximum Marks : 40

Note : Aitempt Five questions i all, selecting at least one

question from cach Unit. Q. No. 1 is compulsory.

1. (a) What is Microsoft Intermediate Language (MSIL) ?
1

(b)  What 1s scope of Instance and Static Variable 7 |

(c) Explain bitwise And, OR, Ex -OR operators. 1%

(dy  What 1s unboxing ? How is it achieved © 1

(e)  What do you mean by Interface ? Explain with the

help of exampie. 114

(f1  What 1s Run Time Polymorphism 1,
Unit [

2. {a) Explain different features of Net. 4

(b)  What 1s Common Language Runtime 7 Discuss its

role in Net [Framework. 4

(3-03)1.-1940 PT.O.
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GSQR(13-15})/M-16 1940
COMPUTER APPLICATION
Paper-V
Introduction to .NET

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one

guestion from each Unit. Q. No. 1 1s compulsory.

1. (a) What s Microsoft Intermediate Language (MSIL) ?
1

(b)  What s scope of Instance and Static Variuble 7 |

(¢} Explain bitwise And, OR, Ex -OR operators. 1%

(d}  What is unboxing ? How 1s 1t achieved ° 1Y

(¢}  What do you mean by [nterface ? Explain with the

help of example. 12

(f'  What is Run Time Polymorphism 7 Y
Unit I

2. (a) Explain different features of Nel 4

(b)  What 1s Common Language Runtime ? Discuss its

rofe in .Net Framework. 4

{(3-03) L-1940 PT.O.



3. Discuss the evolution of Web Development. 8

(b)

(b)

(b)

(")

[.-1940

Unit 1

Explain Class Libraries in C#. 4

What arc Attributes in C# 7 Explain its uses. 4

What do you mean by a variable ? List the rules of
naming variable. How are the variables declared
and 1nitialized ? 5
What is default value ? Write default values of

different type of variables in C#, 3
Unic 111

Discuss switch statement. What is fall through in
switch statement with respect to C# ? How is it
different from nested if ? 6

How 1s while loop different from do—while loop ?

2

Define function overloading ? When do we need
tt 7 How is the overloaded function selected 7 4

Discuss different types of constructors in C#. 4

(a)

(b)

Unit IV

What s Multilevel Inheritance 7 Write a program
in C# to implement it 4

What is method overriding 7 llustrate the concept

by taking your own examples. 4

What is exception ? Give some examples. How do we

define the following :
(1)

Try block
Catch block
Finally block.

What are purposes of using them ? Write C# segments

showing their use. 8

(3-03) [.-1940 3 RIEI]
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BSIT/M-16 12141
COMPUTER SYSTEM ARCHITECTURE-
BSIT-601
Time - Three Hours] Maximum Marks : 40

Note - Attempt Five questions in all. Q. No. 1 is compulsory.
Altempt one question from cach Unit. All questions

carry equal marks.

1. Attempt all questions

(a) What is the goal of memory hierarchy ?

(b) What is the purpose of parallel processing 7

(c) List four peripheral devices that produce an
acceptable output for a person 10 understand ?

(dy Draw a space-time diagram for a six segment
pipeline showing the time it takes 1o process e1ght
tasks.

How many switch points are there in a crogshar

—_—
o
e

switch network that connects p processors 10 11
memory modules ?

(f)  What do you mean by locality of reference ?

(3-05) L-12141 P.T.O.



Unit I

2. {a) Explain the types of Flynn’s Classification.
(b)  Explain the Four--Segment Instruction Pipeline with
example.
3. (a) Write a short note on Memory Interleaving ?
(b) What do you mean by RISC Pipeline ? Explain
with an example.
Unit 11
4. What do you mean by Cache memory ? Explain its three
types of mapping with examples.
5. {(a) Explain the concept of Content Addressing Memory
(CAM).
(b)  What do you mean by Virtual memory ? Explain its
o types of Page Replacement Policies ?
Unit ITI
6. Explain the Interconnection Structures with example.
7. (a)  What do you mean by multiprocessors ? It is
example of which type of Flynn’s Classification ?
(b)  Differentiate between tightly coupled and loosely
coupled systems.
{c) How can we improve the performancc of
multprocessing ? Explan its rwo ways.
L-12141 2

Unit IV
8. What is DMA ? Explain the DMA Controller and its
Transfer ?
9. (a) Draw timing diagram for handshaking transfer.
(b) Differentiate between isolated /O and memory
mapped 1/O. What are the advantages and
disadvantages of each ?
(3-05) L-12141 3 3453
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BSIT/M-16 12142
PROGRAMMING IN C++ -l
BSIT-602
Time : Three Hours] Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 1 compulsory. All

questions carry equal marks.

1. Compulsory Question : 2x4=8
(a) Define a virtual base class in C++ ? What is its
significance ?
(b} Differentiatc between 10s :: app and 1os:: out ?
{c) Write advantages of Inheritance ?

(d) Distinguish a template and a marco in C++

Unit ]

2. How can a common Tiend function to two different classes
be declared ? Explain charactenstics of a friend function

with examples. 8

(3-006) L.-1242 PT.0.



3.

A class called distance i.c., data in feet and inches is
given. Write a program in C-+ to declare this class and

overload “+" operator to add two objects of distance type ?

Unit II
4. Discuss the effect of Inheritance on visibility of members
n 8
(a)  Public derivation
(b)  Private derivation
(c) Protected derivation.
5. How does inheritance influence the working of constractors
and destructors ? 8
Unit 11
6. Explain the following : 4.4
{a)  Abstract class
(b)  Virtual constructor and virtual destructor.
7. (a) Explain the concept of generic programming ?
(b} Wrnite a short note on standard template libran
(STL)? 4.4
[.-1242 2

Unit 1V

{a)  Explain the following functions
(1) Width()
{11)  Prectsion()
(i) Fili)
(iv) Setfl)
{(b)  Distinguish the input functions fscanf() and fread() ”
44

(a)  What are the keywords on which exception handling

in built ? Explain each one of them with an
cxample.
(b)  Write advantages of exception handling 53

(3-00)1.-1242 3 350



3. Wnte notes on the following :

(a)
(b)

Form attribute

Any two form control

Unit 11

4. Explain various tools of multimedia in designing a websitc.

5. Differentiate the major features of HTML with front Page.

How is it helpful in designing web pages.

Unit ITI

6. Explain various methods to add style sheet to HTML

document.
7. (a) What are the various advantages and disadvantages
of Inline Style Shect.
(b)  Explain the various properties of CSS Padding with
example.
Unit IV
8 (1) What do vyou mcan by Prolog ? Explain its
components.
(b)  Explain various types of Document Type Definition
(DTD) with cxample.
9. (a) Ebxplain the varous naming rule in XML
(by  Distinguish between XML and HTML.
L-12143 2 350
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BSIT/M-16 12143

WERSITE DESIGN IMPLEMENTATION AND
BASIC DESIGN TOOLS-I
BSIT-603

Regular : 40

[Maximum Marks Reappear: 45

Time : Three Hours]
Note : Attemplt Five questions in all, selecting at least one

question from each Unit. Q. No. 1 is compulsory. All

questions carry equal marks.
(Compulsory Question)

1. Explain the following :
(1) XML Parsers
{by Data Instance
{¢) Inline Style
(dy  Nested Frameset

Unit [

Explain the role of Inline frame in designing web-
site.

(b)  What do vou mean by form and what are its
attributes 7

(3-06)1.-12143 P.T.O.



5. (a) Discuss the concepts of online chatting and
confercncing. 4

(b} Write a short note on multimedia design

considerations. 4

Unit HI

6. What do you mean by e-Commercc ? Discuss various

types of e-Commerce systems. 8
- 7. Describe EFT techniques. . 8
Unit IV

8. Explain various electronic mecting and communication

systems. 8

9. Write short notes of the following : - 4x2=8
(a) Risk of using Internet.

(v) Hardware and Software Requirements for Internet.

7]
h
<

L-12144 2
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BSIT/M-16 12144
INTERNET CONCEPTS & APPLICATIONS-II
BSIT-604

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question

from each Umt. Q. No. 1 is compulsory.

1. Defing the following : . 2x4=§
(a)  Cipher
(by EDI
(c) HTML

{d) Electronic mail.

Unit 1

2. {(a) Differentiate between symmetric and asymmetric key
cryptography ?

(b)Y  Wrmnte a short note on cookies. 4x2=8
3. Discuss the various types of viruses. 8
Unit I1

4.  What ts Muliimedia and describe the characteristics and
application ol Multimedia ? 8

(3-06) L.-12144 P.T.O.
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Note :

BSIT/M-16 12145
EMBEDDED SYSTEMS & 8051
MICROCONTROLLER
BSIT-6035

[Maximum Marks : 40

There are nine questions in this paper. All questions
carry equal marks. Attempt Five questions in all. Q.
No. 1 is compulsory. Attempt remaining four questions

by selecting only ore guestion from zach Unit.

Define Embedded System. What are the components
of embedded system ? 2
Compare microprocessors and microcontrolters. 2
What do you mean by Lookup tables
microcontroller 7 Write their use. 2
When 8051 is reset, all interrupts are disabled. How
to enable these interrupts ? 2

Unit [

Write the difference between RISC and CISC
Processor. 4
Discuss the memory devices for embedded system.

4

(3-12)1.-12145 P.T.O).



(b)

(€)

Classify the processors in embedded sysiem ? 3
Discuss the processor selection criteria for an
embedded svstem. 3

Define svstem on chip (SOC) with an example. 2

Unit 11

4. With neat sketch explain the architecture of an 8051

microcontroller. g

5. (a)

(b)

(b)

(b)

1.-12145

What 15 the difference between the timer and counter
operation of 8051 microcoritroller ? Explain in brief,
o 4
Explain the memory structure of 8051, 4

Unit III

List different interrupts of 8051 microcontroller
according to their priorities. - 4
Explain Jump and call instructions of 8051 with

examples. 4

Give steps to program 8051 for serial data transfer.

3
Differentiate RRA and RRCA instruction in 805!

P T L S
[EPTL RN A  Fise wstt

Explain = DINZ instructions of intel 8051

microcontreller. 2

(b)

(b)

(3-12) L-12145 3

Unit 1V

Discuss  the timing subroutines in 8051
microcontroller design with an example. 4
Write the various steps for testing the 8051

microcontroller design. 4

Explain serial data transmission method in
microcontrotler 8051. 4
Discuss the type of delays produced by iming

subroutines in 8051 microcontroller. 4

(o
rhn
=



OR

Discuss “Portrait of a Lady” in the light of the statement that
Eliot has presented “a genteel society, hollow from within
but keeping up its appearances with confidence and seif-
consciousness’. 15

16147/450/KD/1620 4
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BHQ/M-16 16147

ENGLISH
(Modern British Literature-II)
Paper-XIV
Time : Three Hours] [Maximum Marks : 80

Note : Attempt all questions.

1.

(a)

(b)

Explain with reference to the context :
Time for you and time for me,
And time yet for hundred indecisions,
And for a hundred visions and revisions,
Before the taking of a toast and tea.

OR
Among the windings of the violins
And the ariettes
Of cracked cornets
Inside my brain a dull tom-ton begins
Absurdly hammering a prelude of its own. 6

Read the passage and answer the questions given at the
end of it :

‘Ninety-six identical twins working ninety-six identical
machines!’ The voice was almost tremulous with
enthusiasm. “You really know where you are. For the
first time in history.” He quoted the planetary motto:

16147/450/KD/1620 [P.T.O.



‘Community, Identity, Stability.” Grand words. ‘If we
could bokanovskify indefinitely the whole problem would
be solved.’

(i) Whose voice do you hear ?
(11) What is ‘planetary motto’ ?
(iti) What do you understand by ‘bokanovskify’ ?

OR

He opened the door of his lock-up and called to a
lounging couple of Dalta-Minus attendants to come and
push his machine out on to the roof. The hangers were
staffed by a single Bokanovsky Group, and the men were
twins, identically small, black and hideous. Bernard gave
his orders in the sharp, rather arrogant and even offensive
tone of one who does not feel himself too secure in his
superiority.

(i} Who opened the door and why 7

(i) What do you know about Bokanovsky Group ?

{ii1) Who is Bernard ? 6

2.  Write any six of short answer type questions :

(a)

Does “The Love Song of J. Alfred Prufrock” justify to
be a song of frustration and emotional conflict ?

(b) How does “The Love song of J Atfred Prufrock”
represent a complete break with nineteenth centry
tradition of poetry ?

(c) Justify the problem of communication in “Portrait of a
Lady”.

16147/450/KD/1620 2

(d)

(e)

®

(&)

(h)

Justify the use of bric-a-brac in “Portriat of a Lady”.

How does Huxley structure the novel so that he is able
to parallel life in the Brave New World with our life
today ?

How does the World Controller aid the development of
Huxley's basic thesis ?

Why is John considered the most important character in
the Brave New World 7

What is the significance of Huxley's use of “Ford” as a
substitute for “ Christ” or “God” ? (6x4=24)

3. Aftempt any two questions :
(a) Attempt a character-sketch of John, the Savage.
(b) Theme of man-woman relationship in “Portrait of a
Lady”.
(¢) Boredom and loneliness in “The Love Song of J. Alfred
Prufrock™. (2x7=14)
4. What is Huxley's attitude toward the flesh ? How is this
manifested through the actions of the principal characters in
the Brave New World 7
OR
Discuss Brave New World as a didactic work. 15
5. Eliot has been considered a poet of the modern sensibtlity.
How does “The Love Song of J. Alfred Prufrock” reveal his
consciousness of the modern city ?
16147/450/KD/1620 3 [P.T.O.
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Time : Three Hours]

BHQ/M-16 16148

ENGLISH
(Indian Writing in English-II)
Paper-XV

[Maximum Marks : 80

Note : Attempt all questions.

1.

(a)

(b)

Explain with reference to the context :

Or in wild despair, pick an armful of

Darkness to bring it here to lie

Behind my bedroom door like a brooding Dog.....
OR

They let her slide from pegs of sanity into

A bed made soft with tears

And she lay there weeping,

For sleep had lost its use. 6

Read the passage and answer the following questions :
Margayya looked up as a shadow fell on his note-book.
He saw a uniformed servant standing before him. It was
Arul Doss, the head peon of the Co-operative Bank, an
old Christian who had grown up with the institution. He
had wrinkles round his eyes, and a white moustache and
mild eyes.

(i) Why did Margayya loock up ?

(ii) What did he see ?

(iii) Who was Arul Doss 7

16148/450/KD/995 [P.T.O.



2.

OR

As he went through the town that day he was obsessed
with thoughts of money. His mind rang with the words
he had said to the villagers :

“I'm only trying to help you to get out of your money
worries.”

(i) Who is ‘he’ in the first sentence ?
(ii) What was he obsessed with ?
(iii) What had he said to the villagers ? 6

Write in short on any six of the following :
(a) Write down the theme of the poem “The Freaks’.

(b) “The Sunshine Cat” is a poemn of feminine sensibility.
Elaborate.

(¢c) Describe the nostalgic mood in the poem “A Hot Noon
in Malabar” .

(d) Write down the symbolic meaning of the house in the
~ poem ‘My Grand Mother's House’.

(e) Who is the central figure in ‘The Financial Expert’ ?
(f) Describe Dr. Pal as Foil of Margayya ?
(g) Write a short note on Margayya's love of Balu.

(h) What message has been given by R.K. Narayan through
“The Financial Expert” ? (4x6=24)

Answer any two of the following :
(a) Write a note on the confessional mode in Kamala Das's
poetry.

(b) Discuss images and symbols in the poetry of Kamala
Das.

16148/450/KDD/995 2

(c) Examine critically the role and influence of the family
in moulding the career of Margayya, the Financial expert.
{(Tx2=14)

Attempt a critical appreciation of the poem “The Sunshine
Cat”.

OR

Write a note on Kamala Das as a rebel and as a poet of protest.
15

How far would it be correct to say that Margayya is a financial
expert ? Give a reasoned answer.

OR

Write a note on R.K. Narayan's art of plot construction with
special reference to “The Financial Expert”. 15

16148/450/KD/995 3



4. How do the fisher folk give Esteban a 'splendid funeral'?
Or

What are the unusual elements in Once Upon a Time?

5. Comment on the women characters in Things Fall Apart.

Or
What are the themes and issues that have been discussed in
the novel Things Fall Apart ? (3x15=45)
16149/450/KD/996 4
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BHQ/M-16 16149

ENGLISH
(Modern World Literature—II)
Paper : XVI
Time : Three Hours] [Maximum Marks : 80
Do as directed.
SECTION-A

Attempt any fwo passages. Read the passage and answer the
questions that follow :

(a) The trusted housemaid and the itinerant gardener, whose

"day” it was, came running, the first to see and to scream
with him, and the itinerant gardener tore his hands trying
to get at the little boy, Then the man and his wife burst
wildly into the garden and for some reason (the cat,
probably) the alarm set up waiting against the screams
while the bleeding mass of the little boy was hacked out
of the security coil with saws, wire-cutters, choppers,
and they carried it - the man, the wife, the hysterical
trusted housemaid and the weeping gardener - into the
house.

(i) Name the chapter and the writer.
(i1} Why the housemaid has been referred to as "trusted'?
(111) Why was the boy bleeding?

(iv) Write the synonyms of: Itinerant, Scream.

16149/450/KD/996 [P.T.O.



(b) “Tell me!” SECTION-B

The schoolmaster looked at him. 2. Answer any five questions, selecting at least one from each
“Is the gendarme coming back tomorrow?" unit.

“I don’t know."

“Are you coming with us?" - UNIT-I

“T don’t know. Why?" (a) What is the theme of The Greatcoat ?

The prisoner got up and stretched out on top of the (b) The Guest explores the themes of confinement and flight.
blankets, his feet toward the window. The light from the Explain.

electric bulb shone straight into his eyes and he closed

them at once. UNIT-II

(i) Name the chapter and the writer. (c) What is the message of the story The Handsomest

(ii) Who was supposed to go with the prisoner? Drowned Man in the World ?

iii) What is th text of the ab tion? . . .
(i) at1s the confex € above conversation (d) Why does Gordimer calls Once Upon a Time ‘a bed time

(iv) Make sentences of — Shone, Prisoner. story” ?
(c) Unoka, for that was his father's name, had died ten years
ago. In his day he was lazy and improvident and was UNIT-I1I
quite incapable of thinking about tomorrow. If any money
came his way, and it seldom did, he immediately bought
gourds of palm-wine called round his neighbours and (f) Write a short note on the Ibo society.
made merry. He always said that whenever he saw a

dead man’s mouth he saw the folly of not eating what

(¢) Comment on the title of Things Fall Apart.

(g) Write a short note on the character of Ikemefuna.

5x5=25
one had in one’s lifetime. Unoka was, of course, a debtor, ( )
and :.o owed w<a@ sn_mr_voﬁ some money, from a few SECTION-C
cowries to quite substantial amounts. )
. ) Attempt all the questions :
(i) Name the chapter and the writer.
(i) Whose father was Unoka? 3. Comment upon the appropriateness of the title The Guest.
(iii) What traits Unoka possessed? Or
(iv) Write the antonyms of- Incapable, Folly. Draw the character sketch of Akaky as per your reading of

(2x5=10) The Greatcoat.

16149/450/KD/996 2 16149/450/KD/996 3 [P.T.O.
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BHQ/M.16 16192

POLITICAL SCIENCE
(Comparative Constitutions of UK. & U.S.A)
- Paper-I

Time : Three Hours] - [Maximum Maz:'ks : 80

‘Note : Attempt any five questions. All questions carry equal marks.
T fEE o w w 9w AR w wee @ % wEE
B { o |

1. What are the main features of the British Constitution ? 16

fafr ofaum 7 7o favwam = B
2. Examine the power and plosit'ion of British Prime Minister.
- 16

fafew wureeh = wfm ok feofy 9t sem w9

. Discuss the main features of Social-Economic System of
US.A. - 16
RS aﬁﬁmﬁmﬁmaﬁmwﬁw@
faeivarsl #1 iy =y

- e

- 4. Make a comparative study of the American Cabinet and the
British Cabinet. - 16

eyl - |

16192/100/KD/91 1 - | [P.T.O.



5. Discuss the composition, power and position of the House of
- Commons, 16

mammaﬁmmmai’nﬁuﬁmwmﬂ

6. Dzscuss the orgamsatxon and programmes of the rwo leading
 Political parties of England. 16

yﬁwﬁﬁg@wﬁmmémaﬂrﬁﬁﬁraﬁ
EZT@IIH?U

7. Discuss the various factors which determine Voting behaviour
~ in England, - 16

_-.mﬁ.wwﬁw@aaﬁﬁmﬁaﬁmmﬁ
— |

8._ ‘Whii do you understand by Bureaucracy ? Discuss the

charactenstlcs of Bureaucracy in America. 16

ﬁw@@mwmﬁ%?mﬁmﬁtﬁmw@ﬁ
favmanes =1 aofy =3

9. | Objective Type questions.

B iSRS R E
(a) “There is nothing like Constltuuon in U.K.” Who said
thls ?
() Munro
(i) De TocQuville
U Gil) Jennings

(iv) Dicey.
16192/100/KD/911 2
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i) Ve B () R
iy A S | o (i T

(i) o A | - . (i) TR

(iv) #ftwe) ‘ vy T | wr T

(d) American Constitution is ‘5 Term of the House of Representative is

(i) Flexible {it One year

(i) Rigid i)y Three years
. n

(iil} Flexible Rigid (1) Four years

. {iv} Two years.

(iv) None of these. Y

2 & Haus © .

(iy T a&

(i) e
P (iiy @ =«
11
X (iti) IR T
(iily e F2X .
(iv) T 9=l

(vy T99 | =18 TE0 B
{g) Ist Speaker of House of lords was

{e) British Political System is (i) Dayna
‘a Federal . ‘ {i1) Thachar
(i) Parliamentary {iii) Helene Hayman
(i) Unitary . (iv) Victoria.

{iv) None of these.

16192/100/KD/911 4 C 16192/100/KD/91 1 -5



%mﬁﬁ H W ﬂﬁﬁ off
W T
() o
(i) #o 3w
(ivy Prsaifog,
(h)  Term of the House of Commons is
(1) Three vears
{11)  Four vears
(iii) Six year
(iv} Five VEArs,
FET AN W e @
i) o |
(i) IR 3™
(iii) B: =
(iv) 91

16192/100/KD/911 . 6

(2x8=16)

{c)

e
T

(iy TI0 =

(i) Eo fwfzm 3

(iii) ¥ =)

(iv) R =

How many Articles are there in the American
Constitution ? ,
{1y 7

(i) 77

(iii) 103

{iv) 111,

R F T ot sy

@ 7

(i) 77

(iii} 103

(dv) 111,

Ist President of U.S A was
(i}  Jafferson

(ii) Benjamin Franklin
(ili) George Washington
{(tv} Hamilton.

16192/100/K D191 1 3
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wOEﬁOPP SCIENCE
( angmx.o;m_ Organization)
Paper-1I .

Time : Three moﬁ& . ‘ _me_a::: Marks : 80

' Note : >_8ER any \, ive e_nmzo:m All questions o&é ch_ marks.

LA iaﬂﬁ&%aﬂ&a&ﬁ&ﬁﬂﬁﬂﬁm
#

1. Define the EnmE:m, :m::o and basges of International
organization. g R [ 3

THIY oW & m& uﬁw %_A A & mdr Hife)
N... “The League of Nations w was Ea child of the mﬂmﬂ World War.”
Explain this statement, _ : 16
..aﬂﬁmuﬁﬂﬁmﬂﬁmaﬁ_:ﬁﬂﬁﬁﬁ@s
Hifag|
3. What are the powers and functions of General Assembly of
U.N ? Explain.
IR TR W E ﬁ«.“ R wirel = 2 =

_m#mﬂ_ . | . 16
4, .msw_umﬁ the role of dz Security Council in BE:ﬁE:m
) FBE&SB_ ‘peace and mnn_EQ 16

st wha ok g T w0 ¥ W T TRET

%ﬂ%ﬁwﬂﬂﬁaﬁ%_

_msmsooﬁuﬁm . [PTO.
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9.

16193/100/KD/912

Discuss the Varous :FSO% of Ooo:hé ,.o:_o:ﬁasﬂ of &mv:ﬁn
::Qﬂ 50 UN Charter. . . . S

..ﬁmﬁﬁmmﬂﬁgwﬂ@%ﬂﬁﬂagﬁ

faferdt = =arEm i)

" Write a detailed note on Peace-building. , 16

é@%.ﬁﬁﬂ&m%@@.

What do you understand by Democratization of U.N. System ¥
Discuss the main bases of it. 16
TR T Fae $ ARTAET S0 1w 8
W A AUE w Ao

Discuss the main dchievements and failures of UN.O." " 16 -

ﬁwﬁdﬂﬁﬂm@ﬂﬂg%%%%
Tty

Objective ,_.,w_wn Questions.

TR Il
(a) Who is the Father of Political Science 7
(i) Aristotle o

(ii) Plato
__ _QE Roussean

{iv) Zonn om the »doﬁ m

. T 1 o A E2

RO

oG wR
() E
(iv) TR H ¥ W A

(b) How many members ate in GZ General _fmnEEw ?

@ 191

(ii) 192

(i) 193

(iv) 194.

W g weEW % fEe w0
@ 191 |
(i) 192

(iii) 193

(iv) 194. |

(c) Which country :mm the Veto moﬁnn ?

(i) America

(ii) China

(iii) - France .

(iv) All the »co<o.u_ ”

frg dm' S T G wfm 2

@8 wd
o& ﬂi_ﬁ ﬁ&_
asw:cgea:

¢ pro.
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{d)

m@no:a Emmwcr ho:<w::o= was erganized in
9. 1899 . .

C G 1900

(e)

()

(i) 1906

(iv) 1907.

feita s @ﬁ%ﬂm ERRICiN
() 1899 H

(i) 1900 #

(iii) 1906 #

(iv) 1907 #I

Who was the first Secretary General of UN. ?

(i) Trygvelie
(ii) Ban'ki Moon

" (1if) B.B. Ghali

(iy) Dag Hammiarskjold.
TR TE F WOW ety =4 @

() et
() T W

(Giiy . s

(iv) =t i)

How many articles are in UN O:ana ?
(iy 100

i) 111

(iii) 395

(iv) 250.

16193/100/KD/912 4

e it T s

T

Ll

T T 5% | w7
{1y 100
S Gh L
(i) 3957
{iv) 250..
(g) When was START-Il Treaty signed?
(i) In 1990
(iiy In 1991
(iii) In 1992
(iv) In 1993.
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.ﬁ& What is the term of the Judge « ‘of _bﬁamccza Court 7
(i) ©6 years
(i) 7 years
(ili) 8 years
(iv) 9 years, (8x2=16)
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